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Child Development & Pedagogy

According to social learning theory it is more
important for physical education teachers to

(A) positive role models through their own behaviours
regarding physical activity and health

(B) wunderstand the sequence and progression
through which physical skills are acquired

(C) ensure that new skills are introduced only at
developmentally appropriate levels

(D) create an atmosphere in which all participants are

encouraged to work cooperatively

A four month old child is given a new toy and he puts
it inside his mouth. Here the cognitive functioning of
this child explained by Piaget as-

(A) Accommodation (B) Assimilation

(C) Equilibrium (D) Schemas

Which of the following is true with reference to
motivation —

(A) A difficult goal helps to perform better

(B) Personal commitment is most important for
motivation

(C) An easier goal helps to perform better

(D) Goal does not affect the motivational purpose

From which among the following multiple pedagogical
techniques, multiple assessment techniques and
varying the complexity of the content are related?

(A) Remedial teaching

(B) Differentiated instruction

(C) Reciprocal teaching

(D) Universal design of learning

Which of the following personality trait shows the
emotional development of the child ?

(A) The child attain social maturity i.e the ability of co-
operation and sacrifices for others interest .

(B) If their concern for the future creates disturbance .
(C)Bothaandb .

(D) None of these.

Answer the following questions by selecting the most
appropriate option.

In teaching learning process, interaction refers to
what take place between__

(A) Teacher and learner

(B) Teacher and principles

(C) One learner to the another learner

(D) Teacher and parents

How can reliability of a test be increased?
(A) By seeking expert’'s agreement

(B) By increasing the test length

(C) By shortening the test length

(D) By arranging items in order of difficulty

Which of the following methods helps a teaching
aspirant to develop the ability to analyze the subject
matter?

(A) Demonstrative technique.

(B) Live demonstration.

(C) Programmed instruction.

(D) Psycho-feedback

According to NCF 2005 which one of the following is
not a major shift?

(A) Teacher centric to Learner centric

(B) Learner autonomy to Teacher direction

(C) Passive to active reception in learning
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(D) Learning within four walls of the classroom to
learning in the wider social context

What will you do to make the students of your school
disciplined ?

(A) You will deliver lecture on discipline.

(B) Treat students with the same respect you expect
from them

(C) You yourself will remain disciplined.

(D) You will give prizes to disciplined students.

At which year of age, a child is prone to mood swings
and melodramatics?
(A) 4 years of age
(C) 7 years of age

(B) 5 years of age
(D) 8 years of age

Select the external factor which influences growth and
development

(A) Heredity factors

(B) Emotional factors

(C) Intelligence

(D) Environment in the womb of the mother

What does mean by Principal of Significance of Early
Development?

(A) It is a universal fact that early development is
more critical than later development.

(B) Early development involves the experiences a
child has during young age.

(C) Positive experiences can be provided by parents
through proper love and caring.

(D) All of these

is considered as static social structure
(A) Heredity (B) Environment
(C) Teaching (D) Learning

What teaching strategies would you choose to involve
your students in the process of socialization?

(A) Inductive approach

(B) Deductive approach

(C) Cooperative learning

(D) Using illustrations as teaching aid

10 year old Radha has mental age of 16 her 1Q is
(A) 120 (B) 160
(C) 140 (D) 90

Three level of moral development were identified by
(A) Skinner (B) Kohlberg
(C) Pavlov (D) Erickson

Which test is used for measurement of personality of
an individual

(A) Rorschach test

(C) Welchsler binet test

(B) Stanford binet test
(D) Baylay scale

Which of the following child psychologists focus on
child-centred education?
(A) Skinner
(C) Pavlov

(B) Eric Erickson
(D) John Dewey

Why do individuals differ from one another?

(A) Because of the interplay between heredity and
environment

(B) Because each
characteristics

(C) Because of the impact of the environment
(D) All of the above

individual possess inborn
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Which of the following is not the characteristic of a
good test to evaluate a student.

(A) Objectivity (B) Reliability

(C) Validity (D) None of these

Which among the following domain represent highest
level in Bloom'’s revised taxonomy?

(A) Understanding (B) Remembering

(C) Creating (D) Evaluating

Through school based assessment teachers are able
to —

(A) Evaluate students in each semester

(B) Evaluate without feedback

(C) Not evaluate

(D) Engage regularly with learners

The most important advantage of the true-false test is

(A) the high diagnostic value

(B) its elimination of guessing through correction
(C) its wide sampling

(D) the validity of its items

By which among the following physical characteristics
of a child is influenced ?

(A) Environment

(B) Mother's DNA

(C) Father's DNA

(D) DNAs of both mothers and fathers

which type of disorder related to lack of coordination
between the child's motor skills, such holding a pencil
and writing something

Mathematics

L.C.M of two positive number is 24 and their H.C.F is
3. If the sum of the numbers is 6, then what is the
difference between the two numbers ?

(A)5 (B)6

(C) 12 (D) 4

A car covers 108 km in 12 hours. At what speed per
hour does the car move?
(A) 9 km/hr
(C) 8 km/hr

(B) 10 km/hr
(D) 12 km/hr

is equal to 324612111

1 6 7 3 2 1
(A)ﬁ;5 (B)6§
©) 6 (D)6

No. of degree in three and two-third Right angles is
(A) 330° (B) 270°
(C) 180° (D) 120°

Answer the following questions by selecting the
correct/most appropriate options.

A teacher plans the following activities to introduce
the concept of ‘half to Class Il students :

A) Shows pictures representing ‘half’

B) Writes symbol for ‘half

C) Divides many types of concrete materials into
‘halves’

D) Uses story or words to represent ‘half

Which one of the following is the correct sequence of
the activities that the teacher needs to follow?
(A)C,D,A/B (B)A,B,C,D

(©)B,A C,D (D)C,A,D, B
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(A) Dyspraxia
(C) Dysgraphia

(B) Dyslexia
(D) Dysphasia

Which statement is not true regarding socially and
culturally backward children?

(A) Parents fail to motivate these learners because of
their poor economic condition or limited education.

(B) these learners have an abundance of verbal
abilities

(C) they look forward to immediate rewards rather
than long term goals

(D) they have difficulties in communicating ideas in an
appropriate manner

which of the following ways is a suitable way to teach
talented children learn?

(A) Giving them the responsibility of teaching other
children

(B) Giving extra time to them

(C) Reprimanding them often for being restless

(D) Engage him or her in a work, which he or she is
interested in

Area Intensive Program for Educational Backward
Minorities, 1992 was launched in ___
(A) 1991 (B) 1992
(C) 1993 (D) 1994

Which of the following is more important for keeping
the good mental health of students?

(A) Provision for curricular activities

(B) Freedom of expression

(C) Variety of interests

(D) Teacher’s role and school environment.

Answer the following question by selecting the
correct/most appropriate options:

It has been found that ‘Games’ help in understanding
mathematical concepts at primary level, as ‘Games’:
(A) break monotony in the class.

(B) help in class management.

(C) provide fun to the children.

(D) provide an opportunity for extension of concepts.

The importance of mathematics at primary level is
(A) cultural (B) mental
(C) practical (D) religious

Kumar belongs to a very poor and conservative
family, what teacher can do to help him?

(A) A special school and classes may be opened for
him

(B) Special training may be given to the teacher

(C) He should be treated as a normal pupil

(D) He should be sympathized

A teacher asks students to draw many 3 by 3
triangles and shade half of each, in as many different
ways they can think of, which type of the task is
assigned to the students?

(A) Written problem

(B) Performance task

(C) Group task

(D) Oral questioning

As per NCF 2005 what is the meaning of nature of
mathematics?

(A) Mathematics reveals hidden patterns that helps
us to understand the world around us.
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(B) Many concepts are needed to be learnt
sequentially in mathematics.

(C) The basics of mathematics at secondary and
higher secondary stages will help children make
better use of their time at school.

(D) All of the above

Which among the following is not an example of the
universal nature of mathematics?

(A) Calculating molecular weights of
compound

(B) Calculation of agricultural production per unit area
(C) Find the speed of sound

(D) None of these

organic

Answer the following questions by selecting the most
appropriate option.

Which one of the following
technique?

(A) seminar

(C) film and chart

is not a teaching

(B) symposium
(D) interview

When introducing mensuration, a teacher writes all
the formulae on the board before proceeding further.
This reflects that she is following the

(A) Inductive approach

(B) Deductive approach

(C) Experimental approach

(D) Practical approach

Answer the following questions by selecting the
correct/most appropriate options.

Which one of the following statements is true?

(A) Zero should be introduced at the time of teaching
place value.

(B) Zero should be the first numeral to be taught.

(C) Zero should be introduced after children develop
number sense.

(D) Zero should be introduced after number 9.

“Problem solving” as a strategy of doing mathematics
involves

(A) extensive practice

(B) using clues to arrive at a solution

(C) activity based approach

(D) estimation

Present NCERT text-books on Mathematics are
written keeping in mind the recommendations of

(A) National Curriculum Framework 2005

(B) National Policy on Education 1986

(C) Syllabus prescribed by CBSE in 2006

(D) Syllabus prescribed by State Board in 2006

‘Vedic Mathematics’ is becoming popular nowadays
especially amongst primary school children and is
used to enhance

(A) The problem solving skills of students in
mathematics.

(B) The concentration of students in mathematics.

(C) The calculation skills and speed in mathematics.

(D) The algorithmic understanding of students in
mathematics.

When it comes to Problems Posing, what does it
means in mathematics:
(A) Inability to solve problems
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(B) Raising doubts in the class
(C) Creating problems from the content
(D) Solving Problems

What would be your strategy for addressing the
needs of blind learners?

(A) Alternate teaching-learning and assessment
methods

(B) Send the learners to a special educator

(C) Offer them another subject in lieu of mathematics
(D) Pair them with high scores in mathematics

This morning Ram bought 1 pound of cake. In order
to eat with his family, he used 3/4 of a pound. how
much does he has left in the refrigerator?

(A)1/4 (B) 3/4

(C)2/3 (D) 1/3

Two angles of an isosceles triangle are always
(A) Equal (B) Equal to 45°
(C) Equal to 60° (D) None of these

Find the difference between the place value of 6 in
1st number and the place value of 7 in the 2nd
number. The numbers are given below.

1- 976735 2- 185743
(A) 780 (B) 6700
(C) 5300 (D) 50000

Convert 3 mm to dam.
(A) 0.0300 dam
(C) 0.0003 dam

(B) 1.3000 dam
(D) 0.0002 dam

The value of 6H (Hundreds) +3T(Tens) + 5 (Unit)

(A) 645 (B) 635
(C) 653 (D) 265
What is the HCF of 2/3, 4/3 and 6/5 ?
(A) 6/15 (B) 2/5
(C) 15 (D) 2/15

A box of medicine tablets contains 300000 tablets
each weighing 20 mg. what is the total weight of all
the tablets in the box in kilograms?

(A) 30 kg (B) 40 kg

(C) 50 kg (D) 60 kg

Answer the following questions by selecting the most
appropriate option.

Find the difference of the square of 24 and 19.

(A) 152 (B) 512

(C) 215 (D) 125

The sum of place values of 5 in 6251,6521 and 5621
is

(A) 5540
(C) 5505

(B) 5055
(D) 5550

Answer the following questions by selecting the most
appropriate option.

If 52 = 3125, then the value of 5@-3) s

(A)5 (B) 25

(C) 125 (D) 625

The value of (9x10%)+ (9x103%)+ (9x10%)+100 is

(A) 910000 (B) 901000
(C) 900100 (D) 900001
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Environmental Studies

When was Wild Life Protection Act implemented?
(A) 1972 (B) 1975
(C) 1978 (D) 1982

Which among the following publication of NCF
recommended that environmental studies be taught
as an integrated course for the entire primary stage ?
(A) NCF 1998 (B) NCF 2008
(C) NCF 2000 (D) NCF 2010

Suppose you are a teacher of class IV, while teaching
to student you emphasised on the problems created
by pollution. Among the following teaching method
choose an appropriate one according to you ?

(A) Arranging an audio-visual documentary for class
and after watching documentary you tell students to
discuss among them.

(B) Giving lecture

(C) Conducting field trip

(D) Making a poster presentation about the pollution
in class

Green House Effect' means

(A) Pollution in houses in tropical region

(B) Prevention of ultra-violet radiation by the ozone
layer

(C) Trapping of solar energy due to atmospheric
gases

(D) Damage to green painted buildings

Making and maintaining a class kitchen garden:

(A) Will help children learn the importance of healthy
eating.

(B) To make a beautiful garden.

(C) To have flower carpet competitions.

(D) Will tell them the need of a kitchen in school.

Answer the following question by selecting the
correct/ most appropriate options.

The content in an EVS textbook should

A) avoid descriptions and definitions

B) discourage rote learning

C) provide opportunities to the child to question and
explore

D) give only written information to the child

Select the correct option.
(A)Band C
(C)A,Band C

(B) Only C
(D) Aand D

Which among the following is an agriculture practice
in which small area is cleared by cutting down trees
and area is burned?
(A) Jhum Cultivation
(C) Contour Farming

(B) Subsistence Farming
(D) Shifting Agriculture

During the teaching of EVS content if the conceptual
understanding of child is developed then which of the
changes will not be observe in child?

(A) development of moral ability

(B) development of cramming power

(C) development of independent thinking on social
issues

(D) development of ability of critical analysis in social
issues

‘Self-regulation’ of learners refersto____

(A) Creating regulations for student behavior

(B) Rules and regulations made by the student body
(C) Self-discipline and control

(D) Their ability to monitor their own learning
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On the basis of food habits, the inappropriate
category of animal is —
(A) Carnivores

(C) Warm blooded

(B) Omnivores
(D) Herbivores

Select the correct statements about beekeeping

I. January to March is the best time to start
beekeeping

Il. Honeybees are attracted to the Lichi flowers.

Ill. Boxes are needed for keeping bees and storing
honey produced by them.

IV. Sugar is purchased to make syrup for honeybees.
(A) Il and Il only (B) Iand IV only

©) I, and IV (D) I and Il only

Which among the following features are correct about
portfolio?

1) it helps in assessing interest areas and personal
social qualities

2) It only contains the best work of a child

3) It records only the test scores

4) It helps parent know about the weaknesses and
strength of their child

(A)1,2 (B) 1,23

©14 (D) All of the above
Transpiration occurs in which part of the plant?
(A) Stem (B) Roots

(C) Flowers (D) Leaves

To introduce the concept of animals in the class at
primary level, which of the following is the least
suitable activity?

(A) Showing videos of animals and their food habits
(B) - Noticing diversity in animals around by
observation

(C) Drawing pictures of animal and discussion about
them

(D) Asking students to read from their books

Which of these are the techniques of supervised
study in teaching?

(A) Community surveys

(B) Field trips

(C) Community service projects

(D) All of these

Which among the following tree is found mainly in
desert area and have medicinal value, people eat its
leaves and fruit?
(A) Khejadi tree
(C) Banana tree

(B) Neem tree
(D) Pine tree

Which of the following is not true about integrated
approach of EVS?

(A) Comprehend relationship between natural, social
and cultural environment

(B) It is theme based

(C) Encouraging retention of maximum information
(D) It is suggestive and not prescriptive

Moti Masjid in the Red Fort at Delhi was built by?
(A) Jehangir (B) Shahjahan
(C) Akbar (D) Aurangzeb

German silver is an alloy which contains

(A) Zinc (B) Copper
(C) Nickel (D) All of the above
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Which among the following is the process of
separation of solid and liquid before which the
process of sedimentation is done?

(A) centrifugation (B) Distillation

(C) Winnowing (D) Decantation

Which of the following approach lays emphasis on
‘learning by doing’ concept?

(A) Social constructivist approach

(B) Holistic approach

(C) Spiral approach

(D) Integrated approach

According to NCF 2005 which among the following is
not the sub-theme of the predominant theme Family
and Friends in EVS?
(A) Relationships
(C) Sail

(B) Work and play
(D) Flora and Fauna

Which among the following is not an objective of
environmental studies teaching at primary level?

(A) To promote children to maintain both personal
and social hygiene

(B) To make the children understand complex graph,
maps, flowcharts and statistical tables

(C) To enable children to understand the importance
of cultivating healthy habits

(D) To develop the habit of performing task in
systematic manner

Why the study of environmental study is essential at
Primary level?

(A) To understand the environmental concepts

(B) The child must answer the questions related to
environment

(C) To get employment in future, if Science is taught
at Primary level

(D) To develop good habits in child so that they must
be aware about their environment

Which statement is the educational implication of
Thorndike’s Law?

86.

87.

88.

89.

90.

I. The reward system plays an important role in the
process of learning.

Il. Use of reinforcement or feedback is important in
the process of learning.
(A) Only 1

(C) Both land Il

(B) Only I
(D) None of the above

In India railways first started in the year 1853 from —
(A) Calcutta to Mumbai

(B) From Kashmir to Kanyakumari

(C) From Mumbai to Thane

(D) From Guwahati to Chennai

Which among the following houses are made 10-12
feet above the ground?

(A) Houses made of wood and bamboo

(B) Houses made of mud

(C) Houses made of stones

(D) Houses made up of stone and wood

When young learners seem to lose interest in a
lesson, the teacher should__

(A) Ask them to sit quietly for some time

(B) Ask them to sleep for a while

(C) Tell a story or conduct an interesting activity

(D) Allow them to go out and play

Answer the following question by selecting the most
appropriate options.

A teacher, maintains record of a child’s progress on a
day-to-day basis and also keeps the observational
narrative records of significant incidents in his life.
The above activity is used as a/an:

(A) Rating scale (B) Checklist

(C) Portfolio (D) Anecdotal record

In which co curriculum activity, teacher allow student
to participate in music.

(A) Civic development activity

(B) Social welfare activity

(C) Leisure time activity

(D) Excursion activity

English Language

Which method is based on the theory “From
examples to generalization”?

(A) Deductive method

(B) Incidental method

(C) inductive — deductive method

(D) inductive method

Principle of selection and grading of words is based
on its

(A) teacher's ability
(C) range

(B) frequency
(D) All of these

Answer the following questions by selecting the most
appropriate option.

Disadvantages of deductive method in teaching of
grammar is__

(A) This method makes
language

(B) Average teacher can use this method

(C) Only an innovative teacher can use this method
(D) The learner learns the particular grammar point
through it

learner learning about

Answer the following questions by selecting the most
appropriate option.

Notes can be made using a flowchart or a web
diagram. The study skill involved is

95.

(A) Storing
(C) Retrieving

(B) Summarizing
(D) Gathering

__is the backbone of learning a language.
(A) Listening skill (B) Speaking skill
(C) Reading skill (D) Writing skill

Direction (96-104): Read the passage carefully and answer

6 | Page

the questions that follow by selecting the correct/most
appropriate options.

The year 1896 saw Athens host the first Olympics
Games in modern history. And it was in 1900 that
women participated in the prestigious sporting event
for the first time, at the Games held in Paris. While it
looked like the Games didn’t take too long to include
women, their numbers were never the same as their
male counterparts. The reasons for this initial
disparity are endless, and it can be argued that since
sport has historically functioned as a way to define
masculinity, female participation was marginalised.

Coming to financial differences, equal pay continues
to remain a work in progress in this industry, just like
any other. History has seen the rise of a battalion of
iconic female athletes thanks to the endless pool of
existing female talent, and the efforts of advocates
who have championed for women to participate in
sports and get paid for the same, for the media to
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spotlight burgeoning talent and for governments to
support them. This support has led to rise of the likes
of Russia’s Nadia Comaneci, a five-time Olympic
Gold medalist and the first gymnast to be awarded a
perfect score at the Olympics; Jackie Mitchell, one of
the first female pitchers in professional baseball
history; Gertrude Ederle, the first woman to swim
across the English Channel; tennis player Serena
Williams, who holds the most Grand Slam titles in
singles, doubles, and mixed doubles combined
among active players; and Indian boxer Mary Kom,
who is the only woman to become the World Amateur
Boxing champion for a record six times.

Who was one of the first female pitchers in
professional baseball history?

(A) Jackie Mitchell (B) Gertrude Ederle

(C) Serena Williams (D) Mary Kom

What is the role of media in encouraging sports
women?

(A) championed for women to participate

(B) spotlight burgeoning talent

(C) support financially

(D) change equipment

Which of the following city hosted 1900 Olympics?
(A) London (B) Atlanta
(C) Chicago (D) Paris

How many times Mary Kom has become the World
Amateur Boxing champion?

(A)2 (B)3

(C)6 R 7

What is the historical reason of less participation of
women in sports?

(A) Sports was the way to define masculinity

(B) No one was interested in sports

(C) Women were not eager to participate

(D) Sports was considered feminine

When did women participate in the Olympics for the
first time?
(A) 1900
(C) 1904

(B) 1896
(D) 2008

“their numbers were never the same as their male
counterparts”. “Never” in the above phrase is a/an?

(A) Adverb (B) Adjective
(C) Noun (D) Verb

The word ‘burgeoning’ means the same as
(A) Falling (B) Dwindling
(C) Growing (D) Tumbling

The antonym of the word “disparity”
(A) Similarity (B) Gap
(C) Discrepancy (D) Inequality

Direction (105-110): Read the poem given below and answer

Fb:-

the questions that follow by choosing the most
appropriate option.

A black cat among roses, Phlox, lilac-misted under a
first-quarter moon, The sweet smells of heliotrope and
night-scented stock. The garden is very still,

It is dazed with moonlight, Contented with perfume,
Dreaming the opium dreams of its folded poppies.
Firefly lights open and vanish

High as the tip buds of the golden glow

Low as the sweet alyssum flowers at my feet.
Moon-shimmer on leaves and trellises,

105.

106.

107.

108.

109.

110.

111.

112.

113.
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Moon-spikes shafting through the snowball bush.
Only the little faces of the ladies’ delight are alert and
staring,

Only the cat, padding between the roses,

Shakes a branch and breaks the chequered pattern
As water is broken by the falling of a leaf.

Then you come,

And you are quiet like the garden,

And white like the alyssum flowers,

And beautiful as the silent sparks of the fireflies.
Ah, Beloved, do you see those orange lilies?

They knew my mother,

But who belonging to me will they know

When | am gone.

Which scene is being referred to in the given poem?
(A) Garden under the moonlight

(B) room

(C) Valley

(D) None of the above

What phase of life is resembled in the given poem?
(A) Childhood (B) Adulthood
(C) Adolescence (D) Old age

What is the figure of speech used in "And you are
quiet like the garden"?
(A) Metaphor

(C) simile

(B) Personification
(D) Hyperbole

Who is the speaker referring to "In then you come
And you are quiet like the garden"?

(A) Husband (B) Son

(C) Stranger (D) Listener

What is the figure of speech used in "High as the tip
buds of the golden glow"?
(A) Metaphor

(C) Simile

(B) Personification
(D) Hyperbole

"Shakes a branch and breaks the chequered pattern”,
which is being referred to in the line above?

(A) Speaker (B) Listener

(C) A cat (D) None of these

Arrange the following steps of remedial teaching in a
proper sequence.

1) Diagnostic test

3) Appropriate Strategy
(A)2,1,43

(©)24,13

2) Identification

4) Remedial Instruction
(B) 3,2,1,4

(D) 4,2,1,3

A teacher trying to check responses of it's students
teaches them to cut a paper on a straight line. She
then decides to check their ability by making them
repeat the task using different papers and cloth
materials. The children followed the same
methodology independently. This can be said to
comes under which stage of learning?

(A) Acquisition (B) Generalization

(C) Maintenance (D) Adaptation

What should be the sequence of steps while teaching
prose?

1) Silent reading by the pupils

2) Explanation and word meanings

3) Model reading by the teacher

4) Second reading by the teacher

5) Comprehension questions

(A)4,35,2,1 (B) 3,2,4,1,5

(©)3,45,2,1 (D) 2,5,4,3,1
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114. What are the things that as a teacher should follow
before, during or after the parent teacher meeting?
(A) Start the meeting by showing that you care and
know something positive about their child.
(B) Do use materials from the student's work folder.
(C) Do use clear and descriptive terms.
(D) All of these

115. Multiple Choice Questions
(A) reduce subjectivity in evaluation
(B) increase subjectivity in evaluation
(C) allow essay-type answers
(D) allow students to choose multiple options.

116. Answer the following questions by selecting the most
appropriate option.
A student says “l buy a car yesterday”, what teacher
should suggest him?
(A) Teacher should explain grammar rules
(B) Teacher should correct verb
(C) Teacher should ask student to correct sentence
(D) Teacher should suggest student to do not lie.

117. Answer the following question by selecting the most
appropriate option.
The exponents of behavior modification model of
teachingis____

(A) Robert Glaser
(C) Bruner

(B) B F Skinner
(D) Thorndike

118. While preparing the prose lessons for the students
what are the features that the teacher should keep in
mind?

(A) Material aids and previous knowledge
(B) Introduction

(C) Statement of aim

(D) All of the above

119. Which of the following programme helps students to
reinforce their knowledge and develop their
communication and co-operation skill as well as good
interpersonal relation?

(A) Reward scheme

(B) Handling pupils language acquisition problems
(C) Peer support programme

(D) None of these

120. Perception, imitation, feed-back, and drill are the
steps of which of the method of teaching English
speaking skills?

(A) Phonetic method
(C) Subsidiary method

(B) Imitation method
(D) Source method
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10.

Fb:-

Child Development & Pedagogy

Ans.(A)

Social learning theory claims that children learn
by observing others. So, when they see others
performing, the other people act as a role model
for the children. Therefore, physical education
teachers must exhibit physical activity and
proper health so that people feel motivated by
seeing them

Ans.(B)

The cognitive functioning of this child explained
by Piaget as Assimilation. It refers to the pairing
of already existing cognitive structures and the
environment. A 4 months child has inherited
potential of grasping and sucking. Therefore,
when provided with a toy he responded by
putting it inside his mouth.

Ans.(B)

Motivation has no impact until it is felt by the
inner self. Along with giving motivation, children
should ensure the examples of personal
commitment in the classroom.

Ans.(B)

Differentiated instruction is also known as
differentiated learning in educational psychology.
In this type of teaching learning process, a
teacher provides or uses different types of
teaching strategies or teaching tactics for each
and every learner even when he/she is teaching
in the same class. It helps in exploiting the

optimum potential of learners.
Differentiation means tailoring instruction to
meet individual needs. Whether teachers

differentiate content, process, product, or the
learning environment, the use of ongoing
assessment and flexible grouping makes this a
successful approach to instruction.

Ans.(A)

Emotions are closely related to social
development. Emotions dominates the social
behaviour of the child, if the child attains social
maturity i.e the ability of co-operation and
sacrifices for others interest, have specific
interests and social contacts are developed.
Ans.(A)

Interaction refers to what takes place between
the teacher and the learners. Thus, the learning
situation should be structured in such a way that
the interaction between the teacher and learner
will result in realizing the learner’s potential for
cognitive development.

Ans.(A)

The reliability of a test can be increased by
getting agreement from an expert about the
performance.

Ans.(C)

A teacher must possess the ability to analyze the
subject matter of the lesson he or she will teach.
Through programmed instruction, a teacher
guides each student individually and the student
learns at his/her own speed. It is the
‘Programmed instruction’ which helps a teacher
to develop the ability to analyze the subject
matter of a topic.

Ans.(D)

According to NCF 2005, learning within four
walls of the classroom to learning in the wider
social context is not a major shift. It favours
learning in the wider social context the class
room.

Ans.(D)
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In most of the cases prizes are distributed only
for the bright students in their academic year for
their best performances in the school but if you
want to create discipline among the students in
school, you should distribute prizes among these
students.

Ans.(D)

At 8 years of age a child starts to develop a
close circle of same-gender friends, now he
becomes more susceptible to peer pressure,
enjoys group activities, Prone to mood swings
and melodramatics, and at this age a child is
extremely impatient and may have a hard time
waiting for special events, such as Christmas.
Ans.(D)

The factors lying outside the individual in his
environment are said to be the external factors
influencing his growth and development. These
may include the following.

* Environment in the womb of the mother

* Environment available after birth

Ans.(D)

Principal of significance of early development
covers all the aspects mentioned in option no a,
b and c.

Ans.(A)

Heredity is considered as a static social
structure as no one can change the genetic
material of an individual

Ans.(C)

It teaches the students how to work together and
listen to everyone in the work. The outcome of
cooperative learning goes beyond the completion
of task and is also teaching students to know
and praise their own culture and each other’s
culture.

Ans.(B)

IQ of an individual is measured as

IQ = —Zentatade 100 = 2% % 100
Chronological 10
Ans.(B)
Kohlberg identified the three level of moral

development that are preconventional,
conventional, and postconventional. Each level
is further divided into two distinct stages.

Ans.(A)

Herman rorscharch developed Rorschach test
which is used for measurement of personality of
an individual it is also known as ink-bolt test.
Ans.(D)

According to John Dewey that learners come to
school with pre-developed mind set so children’s
interests and attitude should be considered, and
teaching should be child-centric.

Ans.(A)

Every individual is a unique individual because
of the cognitive and affective development,
social maturity, motivation, learning styles,
needs from other individuals. Factors like socio-
economic status, differences in intelligence level
also make individuals different from one another.
Heredity and environment together make up an
individual and it is because both heredity and
environment form the personality of an
individual, therefore individuals differ from one
another.

Ans.(C)

Objectivity is not the good characteristic of a
good test as one cannot judge subjective issues
such as the thinking and reasoning ability of
student with only objective test.
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Ans.(C)

Creating is the highest level of domain in
Bloom’s taxonomy. Creating requires users to
put parts together in a new way, or synthesize
parts into something new and different thus
creating a new form or product. This process is
the most difficult mental function in the new

TESTID - CTT - 87229484

socially and culturally disadvantaged children
are children of those who are deprived due to
social and economic reasons such as caste,
class, religion or gender. these learners mostly
lack verbal abilities because they have very less
vocabulary. they also have difficulties in
communicating ideas in an appropriate manner.

taxonomy. 28. Ans.(D)
Ans.(A) teachers should keep in mind that they should
Through school based assessment, teachers are provide appropriate space and opportunity to
able to give feedback to their students and help talented children to exercise their talent. the best
them in learning more and more. way to teach talented children to engage him or
Ans.(C) her in work, which he or she is interested in.
the most important advantage of true-false test is special assignments, projects and other works
its wide sampling. It is less time consuming. can be given to a child related to his or her
Ans.(D) talent.
A gene is a primary basis of heredity. It is a 29. Ans.(C)
section of DNA that comprises coded Area Intensive Program for Educational
instructions. Backward Minorities was launched in May, 1993
Therefore, child development is largely affected with  the objectives of providing basic
by heredity factors. The twins and siblings will infrastructure and facilities in areas of
have similar genetic formations through the concentration of  educationally  backward
coded instructions will have modification. A child minorities which do not have adequate provision
inherits biological heredity that is transferred for elementary and secondary education.
through genes and chromosomes. Offspring's 30. Ans.(D)
will resemble his parents. Teachers play an important role in promoting the
Ans.(A) mental health of their students. Teachers have a
lack of coordination between the child’s motor lot of responsibilities: helping students progress
skills, such holding a pencil and writing academically, taking on community leadership
something is related to Dyspraxia. In this roles, maintaining a safe classroom environment.
disorder child face the difficulty in coordination Students who are mentally healthy are more
between mind and motor skills. motivated, self aware, and able to participate in
Ans.(B) a classroom community.
Mathematics
Ans.(B) for half. Therefore, the correct sequence is C, A,
Let, one number is x then the another number is D, B.
(6- x) 36. Ans.(D)
Now, X.(6- x) = 24x3 Games help in understanding mathematical
or,x2-6x-72=0 concepts at primary level, as they encourage
or, (x-12) (x +6) =0 students to explore numbers, values, patterns
Therefore, x =12 or x = -6 [negative value and mathematical concepts. Playing games also
neglected] provide opportunity to practice so that students
So, the numbers are 12 and (12-6)=6 can understand and learn concepts of
The required difference is mathematics by their own. They also clear their
=12-6=6. concepts and boost student’s arithmetic skills.
Ans.(A) 37. Ans.(C)
Total distance covered by car=108 km The primary grades are often considered the
Time taken=12 hours most important years of a child’s school career.
Speed per hours=108/12=9 km/hr In grades K-5, students acquire content
Ans.(A) knowledge that they will use as the foundation
3E+ 61—21— 11 for the rest of their education. One of the most
6 7 3 2 important aims for students at this level is to
23 43 7 3 develop a positive attitude toward mathematics.
=5 t773732 Students should understand and appreciate the
23 43 14 +9 functionality of mathematics. In addition to
=?+7—< 6 ) valuing math, primary school students need to
23 43 23 43 1 be taught how to use mathematics in their
=?+7—?=7= 7 everyday lives. They sh_ould be expose_d to all
Ans.(A) the uses of mgthem_atlcs, from counting out
One right angle=90° chan_ge or telling time to use angles in
Hence, 32 right angle = X x 90° = 330° architecture or art. Therefore, the importance of
'3 3 mathematics at primary level is practical.
Ans.(D) 38. Ans.(C)
A teacher plans the following activities to A teacher should treat him like a normal pupil so

introduce the concept of ‘half to Class |Ill
students by dividing concrete materials into
halves then showing pictures representing half.
This will help the students to imagine the half.
The teacher will tell story or word that represents
the half. At the last teacher will show the symbol

2 | Page

that he can't feel the inferior complexity among
the other students in the classroom. According to
inclusive education, all students should be
treated equally. It rejects but still provides the
use of special schools or classrooms to separate
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students with disabilities from students without
disabilities.

Ans.(B)

The task is assigned to the studentsis
performance task. It is grade-level formative
performance assessment tasks with

accompanying scoring rubrics and discussion of
student work samples. It measures a person's
sustained and selective attention. Sustained
attention is the ability to maintain a consistent
focus on some continuous activity or stimuli, and
is associated with impulsivity. Selective attention
is the ability to focus on relevant stimuli and
ignore competing stimuli. This skill is associated
with distractibility. They are aligned to the
Common Core State Standards for Mathematics.
Ans.(A)

Mathematics reveals hidden patterns that helps
us to understand the world around us. Much
more than arithmetic and geometry, Mathematics
today is a diversified discipline, which deals with
data, measurement and observations from
science; with reference, deduction and proof,

and with  mathematical models, natural
phenomena, human behaviour and social
systems.
Ans.(D)
Mathematics is universal in the sense that it
finds its application in various fields like

agriculture, medicine, Engineering, economics,
business etc. The examples given above are
uses of mathematics in chemistry, agriculture
and physics thus reinforcing its universal nature.
Ans.(C)

Film and chart are teaching aids which help in
teaching learning process and make the process
easy and convenient. While seminar, symposium
and interview are the teaching techniques.
Ans.(B)

“A  deductive approach is concerned with
developing a hypothesis (or hypotheses) based
on existing theory, and then designing a
research strategy to test the hypothesis”. In
other words, when a deductive approach is being
followed in the research the author formulates a
set of hypotheses that need to be tested. Then,
through implementation of relevant methodology
the study is going to prove formulated
hypotheses right or wrong.

Ans.(C)

The counting means matching objects with
natural numbers, starting with 1. When a child is
first learning to count, the idea of counting
nothing would be confusing. So, for no confusion
zero should be introduced when the child has the
knowledge of number sense.

Ans.(C)

The focus is on teaching mathematical topics
through problem-solving contexts and enquiry-
oriented environments which are characterised
by the teacher 'helping students construct a
deep understanding of mathematical ideas and
processes by engaging them in doing
mathematics: creating, conjecturing, exploring,
testing, and verifying'.

Ans.(A)

Present NCERT text-books on Mathematics are
written keeping in mind the recommendations of
National Curriculum Framework 2005.

The National Curriculum Framework (NCF 2005) is
one of four National Curriculum Framework by the
NCERT in India.
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The NCF 2005 document draws its policy basis from
earlier government reports on education as Learning
without Burden and National Policy of Education
1986-1992 and focus group discussion.

Ans.(C)

‘Vedic Mathematics’ is becoming popular
nowadays especially amongst primary school
children and is used to enhance the calculation
skills and speed in mathematics.

Ans.(C)

Creating problems from the content- is another
term for problem posing. A teacher is the best
judge regarding the level of his/her students. In
the classroom, problems must be posed keeping
in view the maturity level of the students.

Ans.(A)

Alternate teaching-learning and assessment
methods- this helps to know how much they have
learnt.

Ans.(A)

Remaining part of cake left in the refrigerator

= (1-3/4) = 1/4 pound

Ans.(A)

Two angles of an isosceles triangle are always
equal

Ans.(C)

976735 is the number by which we have to find out
the place value of 6.

Since there are three digits (735) after 6, take three
zeros after 6.

Then we get 6000. This is the place value of 6

The digit 6 is in the thousands place. It has a value of
6 thousand.

Therefore 6000 is the place value of the 1st number
Similarly, in 2nd number which is 185743.

Place value of 7 is 700.

And the difference between them is 6000-700= 5300
Ans.(C)

Thus, dividing the given length by 104

= 3mm=3/10* dam

=3mm=0.0003 dam

Ans.(B)

6H(Hundreds)+3T(Tens)+5(Unit)

= 600+30+5=635
Ans.(D)

HCF of fractions =
Denominator

= HCF (2, 4, 6)/LCM (3, 3, 5)

= HCF of Numerator is 2/LCM of Denominator is 15
So, answer of the question is 2/15

Ans.(D)

A box of medicine tablets contains 3000000
tablets each weighing 20 mg.

So total weight=3000000 x 20=60000000 mg
Weight in kilogram

= 60000000/1000 x 1000 = 60 kg

Ans.(C)

Using the formula

AZ?- B2 = (A+B) (A-B),

The required difference

=242 — 192 = (24+19) (24-19) = 43 x 5= 215
Ans.(D)

place values of 5 in 6251=50

place values of 5 in 6521=500

place values of 5 in 5621=5000

Hence Required sum=50+500+5000=5550
Ans.(B)

52 =3125 - 53=5% 5 a=5.

~5@-3) =5(5-3) =52 =925,

Ans.(A)

(9x10°%) + (9x103) + (9x10?) + 100

= 900000 + 9000 + 900 + 100 = 910000

HCF of Numerator/LCM of
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Environmental Studies

Ans.(A)

*Wildlife Protection Act 1972 was passed on
August 21, 1972, but was later implemented on
September 9, 1972.

*This act prohibits the capturing, Killing,
poisoning or trapping of wild animals. It extends
to the whole of India except the State of Jammu
and Kashmir.

*According to Conservation India's portal, the
Government of India has enacted the Wildlife
(Protection) Act 1972 with the various objectives.
Ans.(C)

The NCF (National Curriculum Framework) 2000,
recommended that environmental studies be
taught as an integrated course (as single EVS)
not in distinct parts as science and social
studies, for the entire primary stage (class | to
V). Before this, classes | to Il were already
following the concept of integrated course for
EVS, according to the NCF’s policy document
1975.

Ans.(A)

Audio-visual aids - these aids appeal both the
sense organs of the learners. They facilitates in
attaining the cognitive, affective and
psychomotor objectives of teaching. Some of the
prominent audio-visual aids are:

television, films and computer, slides, film strips,
OHP etc.

Arranging an audio-visual aid for teaching the
topic pollution and the problems created by
pollution is the best method because children
utilises their all the senses in understanding the
subject.

Ans.(C)

Greenhouse effect is associated with trapping of
solar energy by the atmospheric gases, which
leads to rise in the temperature of the given
area.

Ans.(A)

Children need to be taught health is wealth by
making them do good experiments and by taking
them to visit hospitals. By growing their own
vegetables they will learn how to eat healthy and
remain healthy.

Ans.(C)

The EVS textbooks reflect some of key
characteristics. Any good textbook should lead
the child to interact with the environment, peers,
other people etc rather than be self-content. So,
the content in an EVS textbook should
discourage rote learning, avoid descriptions and
definitions and provide opportunities to the child
to question and explore.

Ans.(D)

In this type of agriculture, a small area of forest
is cleared by cutting down trees and area is
burned. This land is used for growing crops for
few years. When soil becomes less fertile the
area not further use for agriculture purpose and
abandoned.

Ans.(B)

The use of poems and story-telling to explain the
concepts in an EVS class helps to target
learning. A teacher can organize a science
exhibition also to develop the moral ability,
independent thinking and critical analysis in
social issues.

Ans.(D)
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‘Self-regulation’ of learners refers to their ability
to monitor their own learning, it has an important
place in child’s learning, behavior and progress
over a period of time. He can work
independently, collaboratively and harmoniously.
Ans.(C)

On the basis of food habit, the animals can be
classified into the following categories —
Carnivores animals - animals that feed on
another animals or flesh like Lion

Herbivores animals — which feeds on plants and
leafy materials.

omnivores — animals which feed both on plants
and flesh like — dog, cat, mynah, bear etc.
Ans.(C)

Beekeeping is the maintenance of honey bee
colonies, commonly in hives, by humans. In
particular, honeybees are the primary carriers of
pollen and for good fruit set hence Honeybees
are attracted to the Lichi flowers. Two species of
honey bee, A. mellifera and A. cerana indica, are
often maintained, fed, and transported by
beekeepers in the boxes. The best time for
beekeeping is from October to December.
Ans.(C)

Portfolio is the collection of the child’s work
during a quarter. It should not represent only the
best work of the child but also all kinds of work
of the child in each quarter. It helps the teacher
and parents know about the weaknesses and
strengths of the child. It also helps in assessing
interest areas and personal-social qualities of
the child.

Ans.(D)

The plant contains leaf which is responsible for
the exchange of gases. Leaf contains chlorophyll
which is the major site for photosynthesis. Leaf
also contains stomata where small pores are
present which allow carbon dioxide and release
oxygen. Transpiration occurs by opening and
closing of stomata regulated by guard cells
depending on the availability of moisture in the
environment.

Ans.(D)

Asking students to read from their books without
an interaction around the subject will make the
task monotonous and will not prove very
beneficial.

Ans.(D)

Supervised study is the study performed under
direct supervision of teacher like community
surveys, field trips, community projects etc. are
some of the examples of supervised study.
Ans.(A)

Khejadi tree are mainly found in deserts. these
trees does not need much water to grow. these
trees have medicinal value, its bark is used as
medicines, people cook and eat its fruit and
leaves its wood is not attacked by insects.
Ans.(C)

Integrated  approach of EVS aims at
comprehending relationship between natural,
social and cultural environment, theme based to
allow for connected and inter related
understanding and has a suggestive format to

trigger thinking in new directions except
memorizing information children cannot
understand.
Ans.(D)
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* The Moti Masjid is a white marble mosque
inside the Red Fort complex in Delhi, India.

* it was built by Aurangzeb, a Mughal emperor
during 17t century (1659-1660).

Ans.(D)

*» German silver varies in composition, the
percentage of the three elements ranging
approximately as follows: copper, from 50% to
61.6%; zinc, from 19% to 17.2%; nickel, from
30% to 21.1%.

» German silver is extensively used because of
its hardness, toughness, and resistance to
corrosion for articles such as tableware
(commonly silver plated), marine fittings, and
plumbing fixtures. Because of its high electrical
resistance it is used also in heating coils

Ans.(D)

Decantation - it is the process in which liquid is
transferred from one vessel to another without
moving and disturbing the liquid or mixture.
Before this process sedimentation is done and
after settling down of solid or heavier liquid,
surface liquid material which is floating on the
upper surface is transferred.

Centrifugation - in this process seperation,
mixture is rotated and due to force of rotation
and gravity, solid particles are settle down at
bottom rapidly and in this way liquid and solid
can be separated e.g. Butter from Milk
Winnowing - it is the process of separation of
solid components.

Distillation - in this technique of separation
mixture containing solid and liquid is heated and
vapour formed during heating is collected and
condensed in specific container.

Ans.(A)

Social constructivist approach lays emphasis on
learning by doing the concept. It follows the
motto stating that “I do, | understand better”. In
this approach, children learn by doing as well as
interacting with the elder and peer group people.
It provides opportunities for children to construct
their knowledge rather than placing them as
recipients of information in the transactional
process.

Ans.(C)

According to NCF 2005 soil is not the sub-theme
of the predominant theme Family and Friends in
EVS. Flora and fauna are included in the
predominant them for highlighting how human
share a close relationship with animals and
plants.

Ans.(B)

The objectives of EVS teaching at primary level
are -
a) to enable children to have basic knowledge of
various numerals, alphabets and the basic things
we see everyday around us.

b) To enable children understand the importance
of cultivating healthy habits and maintaining both
personal and social hygiene.

c) To develop the habit of performing task in a
systematic manner and to learn to carry out any
activity with precision.

d) To make them understand simple graphs,
maps, flowchart and statistical tables.

e) To develop creative, observational and
inventive qualities in the child. To arouse the
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interest of children in the study of nature and
surrounding.

Ans.(D)

National Education Policy Year 1986
emphasized the need to create awareness of
environment related to environmental education
at all levels and for all classes of society. It is a
basic human necessity to maintain peace
between our inner and our natural and social
environment. By keeping good habits in the
children, the environmental education should be
started at upper Primary level.

Ans.(C)
Both the statements are expressing the
education implications of the law of effect.

According to this law rewards plays an important
role for motivating the student. The teachers
should use reward system for motivating the
student to learn things rather than punishing
them. Besides this feedback is also plays an
equivalent role in learning process. Time to time
feedback on the students learning activity guide
them in a positive direction.

Ans.(C)

India's first train ran from Bombay (Mumbai) to
Thane for around 34 kilometers on April 16 in the
year 1853. this is the fourteen-carriage train
which was hauled by three steam locomotives
named Sahib, Sultan and Sindh.

Ans.(A)

Houses made of wood and bamboo are made in
those areas where there is very heavy rainfall
these bamboo and wood houses are 10-12 feet
above the ground, so that it remains unaffected
by floods.

Ans.(C)

When young learners seem to lose interest in a
lesson, the teacher should tell a story or conduct
an interesting activity. If teacher find the
students are not taking interest in the lesson
then teacher has to develop interest towards
study without stressing them therefore audio-
visual aids based on multiple intelligences is
best method to create interest in the lesson.
Ans.(D)

Here, the activity is used as an Anecdotal
record. Anecdotal observation directly observes
occurrences that are clearly and concisely
written in a non judgmental manner in the past
tense. A journalist approach is used when writing
anecdotal records. This is a factual account of a
single incident answering the who, what, where,
when and how of the incident.

Ans.(C)

In Leisure time activity learners will explore
some typical activities that members of the target
culture enjoy in their free-time. Then they will
match a set of pictures to corresponding
vocabulary cards and then draw and label an in-
depth illustration for one of the activities.
Students will use images to associate words with
images, music. The objective of leisure time
activity are as follows:

1). Students will be able to use vocabulary
related to leisure time activities.

2). Students will develop insight
culture leisure time

3). Students will develop speaking skills.

into target
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English Language

Ans.(D)

The learners learn the particular grammar points
from parts to whole from examples to
generalization. First, they have to deduce the
meaning and later they generalize the form or
structures.

Ans.(D)

According to this theory items of learning should
be presented. Essential vocabulary and and
basic structures of a language should be taught
first. Selection and grading of words is based on
its frequency, usefulness, teachers' ability and
difficulty level. Therefore, option D is correct.
Ans.(A)

In deductive method, the teacher uses a
grammar text book. He tells his students rules or
definitions and explains those with the help of
examples then he gives exercise and ask his
pupils to apply the rules. Disadvantages of
deductive method in teaching of grammar are
that it makes learner learning about language
and it cannot develop communicative ability
among learners.

Ans.(B)

Notes can be made using a flowchart or a web
diagram. The study skill involved is summarizing.
It teaches students how to discern the most
important ideas in a text and how to integrate the
central ideas in a meaningful way. It helps
students learn to determine essential ideas and
consolidate important details that support
them. It enables students to focus on keywords
and phrases of an assigned text that are worth
noting and remembering. It teaches students
how to take a large selection of text and reduce
it to the main points for more concise
understanding.

Ans.(A)

In any language, attending to and interpreting
the oral rendition is termed as listening. The
student imitates and memorizes linguistic items,
such as words, idioms, phrases, tone, etc. and
thus learns speaking the language. Listening
skill forms the backbone of learning a language,
irrespective of the fact that it is a first language
or a second language.

Ans.(A)

The line “Jackie Mitchell, one of the first female
pitchers in professional baseball history”
suggests that Jackie Mitchell is one of the first
female pitchers in professional baseball history.
Ans.(B)

The line “for the media to spotlight burgeoning
talent suggests that the media brought female
sports persons to the spotlight.

Ans.(D)

The start of the passage suggests that the 1900
Olympics Games was hosted in Paris.

Ans.(C)

The last line of the passage “Indian boxer Mary
Kom, who is the only woman to become the
World Amateur Boxing champion for a record six
times” makes it clear that Mary Kom was the
champion for 6 times.

Ans.(A)

The line “sport has historically functioned as a
way to define masculinity” makes it clear that
Sports was the way to define masculinity. Hence
option A is correct.
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Ans.(A)

The start of the passage suggests that the 1900
Olympics Games was the first game in which
women participated. Hence option A is correct.
Ans.(A)

“Never” is an adverb of time as it is used to
emphasize the time element. Hence option A is
correct.

Ans.(C)

“Burgeoning” means “developing quickly” which
is same as “growing”. Hence option C is correct.
Ans.(A)

The word ‘disparity’ means ‘a great difference’
and it opposite of ‘similarity’. Rest of the options
is synonyms of ‘disparity’. Hence option A is
correct.

Ans.(A)

The given poem describes a garden under the
light of the moon, as well as the flowers, animals
and insects one can see, and the finality of
death. Hence from the given options, Option A is
the most suitable response.

Ans.(A)

The phase of life resembled in the poem is about
poet's childhood as she looks back on her
childless state at the end.

Ans.(C)

A simile is a comparison that uses "like" or "as".
Thus, “quiet like the garden" is a simile.

Ans.(D)

Through lines "In then you come and you are
quiet like the garden" the speaker introduces
another character into the story, "the listener".
She directs the remainder of the lines to this
unknown listener.

Ans.(C)

A simile is a comparison that uses "like" or "as".
Thus, High as the tip buds of the golden glow" is
a simile.

Ans.(C)

The above lines in the poem refer to a black cat.
The black cat is prowling through the
undergrowth and “Shaking” and “breaking”
branches. These branches fall from bushes and
trees into the “chequered pattern” of the garden.
Ans.(A)

Remedial Teaching involves four steps:
a. ldentification: Weak students should be
identified with the help of certain tests.

b. Diagnostic Test: A diagnostic test in language
is administered to find out the learning
difficulties and its causes.

c. Remedial Instructions: Remedial Instructions
are to be prepared for the purpose of remedial
teaching.

d. Appropriate strategy: An appropriate strategy
is followed for remedial teaching, after teaching
a test is administered to ascertain, how the
learning difficulties could be removed.

Ans.(B)

Here teacher changed certain aspect of what she
had taught to children and examined their
response to it. Hence, it falls under
Generalization stage of learning.

Ans.(B)

The teaching of prose calls a special attention
while teaching prose the main objective of the
teacher is to enable the learners to an extent
that they can read or learn their text by
themselves and find the Ilearning process

Web :-


https://www.facebook.com/tesmuseduserve
https://tesmus.com/

CTET_2024

TESTID - CTT - 87229484

114.

115.

116.

117.

121.

122.

123.

124.

125.

Fb:-

interesting. They should not just read the content
but understand it as well. So the teacher should
follow a perfect way in order to make the
learning interesting and fruitful. While teaching
prose, the sequence of steps:

3) Model reading by the teacher

2) Explanation and word meanings

4) Second reading by the teacher

1) Silent reading by the pupils

5) Comprehension questions

Ans.(D)

Keeping in mind teachers has many children
demanding their time and attention; a good
conference can help a busy teacher to focus on
what your child needs. Review reports and check
your files from previous conferences to see if
they remind you of important topics you may
have missed. Be clear in your own mind about
each child’s strengths, weaknesses and
appropriate goals.

Ans.(A)

Multiple choice is a form of assessment in which
respondents are asked to select the best
possible answer (or answers) out of the choices
from a list. Multiple Choice Questions reduce
subjectivity in evaluation. Multiple choice
guestions are composed of one question (stem)
with multiple possible answers.

Ans.(B)

The teacher should correct verb. In the sentence
“I buy a car yesterday” which is defined in past
tense but a student used a verb in the first form,
which should be corrected into bought (second
form of a verb). Hence teacher should correct
the form of a verb.

Ans.(B)

Behaviour modification as a formal technique is
beyond the scope of this site, but teachers
practise it willy-nilly. The exponents of behavior
modification model of teaching is B F Skinner.
Shaping" was Skinner's term for the gradual
modification of behavior by the reinforcement of

118.

1109.

120.

desired variations. Skinner believed that
"superstitious"” behavior can arise when a
response happens to be followed by

reinforcement to which it is actually unrelated.
Ans.(D)

For a perfect learning a perfect lesson in
required. It is mostly noticed that students take
least interest in learning english so the teacher
is highly responsible to make the Ilearning
interesting. So, the teacher should use the
material which makes the classes interesting;
he/she should always try to check the previous
knowledge of the students and provide the
further teaching as per the requirement. The
introduction part should always be influenced by
the previous knowledgw of the students.

Ans.(C)

In this type of programme teachers may teach
and train students who perform better in a
particular subject and also helps to maintain
their teaching learning difficulties within group
teaching and self study itself. This programme
helps students to reinforce their knowledge and
develop their communication and co-operation
skill as well as good interpersonal relation.
Ans.(B)

The different aspects of speaking are proper
sounds, stress, rhythms, intonation, fluency, and
pause can be taught by this method. The four
steps for this method are:
Perception: It is the basis for concept formation.
Firstly, the teacher introduces the correct way
and the learners perceive the concept.
Imitation: The students then try to follow the way
and methods of the teacher.
Feedback: If the teacher finds any mistake in the
way of students, he gives feedback i.e he
repeats it again once or twice.
Drill: This is the last step, here the teacher gives

Hindi Language

Ans.(C)

YT § aq R IS BT H IS U & HAifdd
IR frfd Ul & WAt $I eI HT MHAT HIAT Faq
ApTT § TP Aeus Ufaed Terar g1 I dRE I8
yfafed gedicd Hft B AUS Hedied § 817 & AfRId &
T el orufd e we dur Wy AMérew we I @
qedie gl g |

Ans.(C)

BE H 3TdrgIdS < &1 [9BH HH 8 I IRl
HT ARSI o Jul 399 &1 ¥ faendf & ofex
ARy Ft g TR § R I8 Rt aur Rt
%ﬂgﬁ%@ﬁ%ﬁa&ﬁﬁ%mmwﬁw
Gy |

Ans.(B)

TN ¥ - 9 W R I, PR dedi sl em i@ &
B B 3R T F FA Bt aqFd H g9 34fw Ayt
T @ 1

Ans.(C)

Jiu g9 # s= faft nfafafiat gr arear 9 dked §139

THR T8 YA &1 J e o1 Sfa a1 o= s 8, e &

= 979 IR ORI 9 fear T B |

Ans.(D)

TR & IR Al g1 9= | a1 Wed & ufd

S a1 g R o = @ ol ¥ oifie

ﬁm*mmaﬁqamﬁﬂﬁﬁﬁﬁmwaﬁ
[

126.

127.

128.

129.

130.

7 | Page

group drills and individual drills one after
another.

Ans.(A)

TS TR W I G- okl 3 SAYRUT HY THEH H

HISE TEGT B4 &, Fifh Tl 1 I8 Udl el Sl arad
T 39T 3 7 ‘ARG IUANT |1 81 I I Y &l B
TEAT 1 GHSIT ST IET B, Al S AaeRGBEY Ui g &
Y GHSAT SR g It 98 O B SGYURUT B TSI B
JH|

Ans.(A)

Tfafafiat grT faare # Riee s= @ Fad § qur Reor
TiRaT O R S 3 SRR TN Tt & Fpmifafafdy e &
e § fbeg fafafy afe aegey €t gft @ Su emifde
RO &Y S o 781 B Twdl |1

Ans.(C)

T gRT B Y My 9eT I3ty € 8N =ifeu aur
ISP THd SAEd gl IHt d RT B SaT-I”
fRefes mfafafemt oft dam & ot gU ¥ 59 TSR 39 ufshar Y
ARTRY At g8 B

Ans.(A)

3o reg, el & AU g1d § | Iamervra: -1, Hral-

g |

3t 1 31 B IR 7 8 S 0d o1 o TR e 3

3cl: "3 Xeg BT [T T B

Ans.(B)

Al wet & o TUHT A B &1 3 grard’ B
o o fRufa

grard &1 3 - gxmsit @t wufY , 3@ gifad T U
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Ans.(B)

R B FR=R o @ ga1 e W@ 2 i T8l & 7eiR
F IR N < Bt S BT FAE (@) et w51 8 W v g §
& 0 3 RraffeeTe 3 gar faafia @ R

Ans.(C)

$2 @1 dic ‘WEle Bl $gl T & S [ Pt $¢ F dic Bl @RE
axf-itg U4 31 BT Ay AT FUT I A B I Ao TR ATl
Ans.(A)

Iudad fadey H ‘a8 =T ST U7 ele B [A=wdT Farn g
Fifer for Iudad ufda & saran a1 & f 98 o IR § 98 o
F g SHFER AIofaM &1 AR 8 ST 9al I & AN W gad
BU S BT & & AT 39 oron Y 3 < AT 31

Ans.(C)

HAd H 'SYBR' Weg Y MR 'R1SA I § P I8 T g
& wEic 3 AUR R S a1 S e 8 DT BT
DR T RIS TR foTg U o a1 71

Ans.(A)

=T e H <9 YT @ § i I3 I Ut § o
T2 + $a = o= - Srsdl & o1 S SfeR AT SfeR g
T ST § I U Fgd ¢l (Ad- YA {< e
T4 X1, J8-155- 1. aRGd -5 UTG)

Ans.(D)

&1 BT TafaaTE st A eI & g1 $T UHGA Vg @-
oty §- urdes, S1f, AT, g8, HI 1S 5

Ans.(C)

W & o7 q9 &R e, o BR ¥ & AR e Siftrary ffe
e <luep G Hifg ||

Y oR H 3fd 3 3iERT 3R fiue’ & udlies & T F 3
3R I B a1 BT B

Ans.(C)

iiaTies HToT 3R faemera & vam & ot S arelt yre
firg off € gt ® SR wEE ot g T A fp <N
gog 3T a1 U o gl g

Ans.(C)

fafaa umw &1 i@ Tl faer g fafd & erurg &
F 98 1 THd | Ffo dis W vw F fow F g
fafy &) srazgwar gt g1

Ans.(C)

Y UIedgs B g e U § oo gidr 8 ok
3S9PT wgd Ht AUS B B IHHBT AT SHeATOH 7
P& BTF B gl WG aHl & e fhat off 'R W
7T § arf ST gt j

[ & JoTdSHdl & AP & [T 8 TR W
¥gd Heayul g it 81 Ffd saR wHel St ger g W&
2, 39% @ P} GHFH, SUW AR & §= #
GATHS &HdT B f[AB R HRar g
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Ans.(D)

B H G, AT T Yl BT AT ATaT
F 7 | 3 gt IEl § D dareg 991 ) ddr IATHR
12 3TN 3 Fft &1 T MU |

Ans.(A)

FEMA BT UH FUAS gl 71 U0 $ U 8 | forad
TRER Jrafey giar g1 Ursl &l dbR & el 3 dedt
B 3P W WA 9 TRY Bidit 81 B BT WY FARS
HIA BE H R, Feuq, qhuied 9 FRURGH @
g B 31

Ans.(C)

foRy omawed 9@ = H ulaummer, 6H s,
TS SR faFai o o ¥9 oM &1 & TR &
g B 3T 3T T2l B Ihd | 39P I 9gaR IU &
TATARN BT 3HH D ol BT H BAl DI [AUVY Sraadvar
TR e Arh Iudsy SRS St 7, e @1 wwe
TR fyerar & 3R snafayra & off it et s
Ans.(C)

ragiRe &1 3 § orgd et # 519 89 YW &1 yanT
FXA ¢ 3R AEEIRG U I %d g9 & fore o an gaft
HIT B S - GAT, ST, Ug AR g &1 s
gd IS § | $Ud 3UTd § g9 9o § 397 faany &
Srfiregfa T8t &R uTad |

Ans.(A)

WU TR TR g S Urdl &1 gt i T B3
ART| Ffb IT 0T F= Bl 4T JENT & forg ofvd iR
IAIRed BT € I U B gl gl

Ans.(C)

e ¥ el ¥ & aR 7 afe 999 ugd & var faar g,
@ WSt T 3R IGHT IS AT 819 B SATGT JUTIAT
Bl 81 SUY $u A1 1 B R T 357 F RO U
g T A g

Ans.(A)

qod 3fd ard Uy Srdfa AUt vy d9ie gd &1 398
BE 3O HA 3R FoATAD P YR R AR g
fagdwor H¥d IR 24 Bl

Ans.(A) ;

aifiifeat o1 ok gien ® 3 sl o are/aan | van g, S
3y, foregr, &o onfe) afd 90 AW &1, Al WR A @l &
ITe B R I i o HTa gt 71 IR U SHfart
T8I 5 srary sra<a g g

Ans.(B)

o B e ot TR & GHIYE 39 G99 Usel HeH oidl 8
& a8t T & e & W ok IR wwEfta uEt
SHER! U & oY, S 39 HRU|, IqS GHIT TRUmH
TS | T I SMUR W &l TEt ITIR Wya g IR
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HESMUS

...Aeep.s you ahead

TEST FORM NUMBER e s 150
INSTRUCTIONS TO CANDIDATE B UST 150

fiRa w9 : 150 famie

9l B BT DR A Ugal (AATIRId A< &Y &I | US|
(1) =9 gRa@r # 150 U €, 1 5 gt dfg W # i 2

9rT- (1) : Child Development & Pedagogy (30 y=)
9rT- (1) : Mathematics (30 y=9)
9iT- (111) : Environmental Studies (30 =)
9rT- (V1) : English Language (30 9=9)
9rT- (V) @ Hindi Language (30 y=9)

(2) 9 v Ifard € 9 Hed dRIER 3F g |

(3) Ul BT BA PRAT YRS Bl ¥ Ugel AP g9 YRABI DI Siid bRl a2y AR I§ JARFd HRA1 =12y & gad wf)
U IURT € 3R BT IS HH AT 9Tl gl el © | 3R 3MUPl 39 JRADT § g Iy fAear &, a1 musdl gia 54
g B |

(4) 5 wea § TS SipT TR 2|

(5) 3MUPT FRIeTd gRT IR GRADT e ¥ & SIGHT | YD T I § HIAT IR PR G Ugel AT M, A 7R,
SR AW /gl 3R /URIET BT M STR—YRADT IR AEAEFIYdd YR BIAT BRI | AP ITR—YRABT § FEiRT =
R YAT BRIER 4T BRAT BRI | S (a2l &l QX ORE A UTa (AT ST A1y, fTaeT 1 &R R ATd! IJAR—gRIhT
BT YA el fhaT ST AR 3fUD! T’ 3h 3T ST |

(6) TR dad YRS AT =P /= ST U7 gRT SR— JRAST TS TR AR & G A BT QW TRe I AP PR

feggmar ST =R |

(7) OMR SR gRAST B Yo 7 §RT ST SIRAT | Afe fawfl Reafr § Suael SMen, e o H &1 T e
¥ el yrlt R, 3Mded BT Mded R B AT S |

(8) g o argufd fem @ arg & BT wWie Fe BIS WhdT ¢ |

(9) SWRh H ¥ B N < o1 AguTed A H [A%d IRNGIR ® SUGt HIIaTs! /A & oy ITRardl Fwsi S
AhaT B |

(10) T STe&l 81 W A Sleal SR A | U & SR < | FE FaTd Hiod 8 Fhd 2 AR T A 8 Al
2| frel 0 e WR SaTer wHg e faaTg |

(11) ¥aTsd B AR IRREE HaR IUSHR], WIell HeT /BN H G a¥8 A Ufafdd g | dig W1 eSS a0 diargel & a1
e IR AR SUBRYT BT §€ HRd ¥l U UK Aol G AhdT | 9 BT Sooieq B UR 3fdedh & [Awg S
HRIATET P SIRAN 3R SWaT 3ded W AR fovar o1 dadr 2

(12) STR—UF WR DI 6 B el &A1 ST @y |
(13) ®1E W SFNGIR TelT QT B | UgS UNIE $hel el Bl dHhd § |

TE O SIDH Ig§ W0 JRADT Wiew I 1 HET oY a9 aF 1 @rel
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10.

Fb:-

Child Development & Pedagogy

oI ST Rigid & SR RIS et Rt & fag

............ 3ifire TEwayuf 3-

(A) IRRE AR SR wWreg & e & s IasR &

Tegd § YRS Ulaey Hied

(B) 3T 3R WIfd & T e wegy ¥ Wifds sk

T foa S Has

%)q%@mﬁ%wﬁw%am%wwzﬂm
Sy

(D) U ARId §1¢ o Y ufaivl oY Tgd ureer @

HTd FHRA B Wieafed favar sme

T IR HEIN & o & Ueb a7 f&eiT faa S @ @ik a8 39
g d & AT 1 8T UraS! gRT1 39 o= &1 SqHIHS B!
3! {5 U o gH=ma T R-

(A) I (B) STEATHRIT

(C) TgeH (D) THIHT

e & e f Fufafad A s ga 22

(A) Uo TfRpa 7187 S8R T H B Hee T 8
(B) Fof ufdrargar ticareT & g Terd Agayuf @
(C) U 3 18T S8R UG B H Hag BRal g
(D) T&T NITE 3e%T B! UHIFAd Tl HhRd &

5 & Q o1 1 95 WM dois, 95 Geuid db-id 3R
Il 1 fafay Sifeerar ae-ie & Gefia g2

(A) STIRTEHS Rrefur

(B) fanfea =

(€) IR ey

(D) 3T & TP fome

%ﬁ@@ﬁmw@aaﬁmaﬁ%wﬁmﬁ
?

(A) S GRS IRUSAT B U Bl ¢ 3l T &t 3y
& ToTT TEaNT 3R T BY &FdT @1 &

(B) TS Hidwr & 7w Iget fia Wi ey Bt @

() aFfa 3R b

(D) STH A P el

T ST fashedesT T B YUY BT IR |
fRreror 3ifenTe ufehar ® Srd=ia F g Fefifd s g1
(A) e 3R RRremff

(B) R 3R Rygiait

(C) T 3R T & forg wap fRremeif

(D) ferep 3R Ara-foran

T UREU & fIyg-TadT 8 Te18 off Gobdl 87
(A) faRws &t Tgafa T Hid

(B) TREITT B TS TThR

(C) UfRefur &l BieT Hdb

(D) TS B! H3TE TR & TR HHIG HIb

o & ¥ o1 O ugfoat fava-axg &1 foxaor &7 &t eman
fasRia o & fo @ e sge Iuficar &1 ggrdr

PR g2

(A) VeHIHS dob-le (B) T12d U=

(C) YR fobg Tu g (D) F-ufafspar

RTPTT UTGad Bt UG 2005 & SFTER FHifed & & S &
TR §Ead el 87

(A) SIS Disd Y ST Bisd BT 3R

(B) 3T WAl ¥ 37eaTud SR P 3R

(¢) FAfspa @ Tfgsg sifrm siftRrgur &t 3ik

(D) FET-H& DI ARRGART § SHfH I foqa miors
UiRued BT 3R

T P ARBRT F1 & T 310 o1 B3
(A) TR T |
(B) Fey A &1 o 3

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

2 | Page

(C) W SrTafR| §1
(D) TR Sl B REpd D

T 3 F 5y o o U o= A dean 3R UIHTHS
e B I g BT ST 82

(A) 4 Y BT Mg H (B) 5 T @B Mg A

(€ 7N BT g H (D) 8 a¥ & 3 H

g@ﬁwwwaﬁﬁﬁﬁw&ﬁ?ﬁﬁmﬁwﬁﬂm

(A) ST IdR®d HR® (B) YTGHTHD HREH

© TS (D) ATaT & T H arcraRor
RIS fabTa & A & Rigid o1 srf g2

(A) T8 TH EUAE q § 6 ae & e o ga &
IR famr it Heayuf g 81

(B) YR ™ H I 3rIHaT ) XM fhar St § o T
¥ B HH I S GRA B B

(€) 3T TR 3R U & H1e&H T H1eT-oaT gRT JhRIHD
YA UeH T o Iahd g

(D) T Tt

_ )RR g Sa=1 | ol &

(A) ST (B) qafaRur

(c) Rigrr (D) Tra

3 BHEI & THCIHROT b1 Tfghar # AT o34 & e 3y
DI I Rreror v B ITT HIN?

(A) R =PI

(B) TS =i

(C) TehI e

(D) R1&f0T TRl & U H ISTERT BT SUTNT HAT
10 TS BY AT P} AHRID SH 16 TT 8, STDT AT &

(A) 120 (B) 160
(©) 140 (D) 90

Afcie fapT & i R B UgaH gRI B TS

(A) PR (O XARSEN

(ORICEIE (D) TR&HTH

ol safaa & safdda & A= & e fea udeor &1 IuanT
fParSmarg

(A) 12T TRTemT (B) RABIS faie Tt

(€) TR fee T (D) VA Wb

fafifeg & ¥ 59 megre 3 Ta-biad Rer ® a=
Hfxa fosar ure

(A) TR (B) TR& TRed

(QRIEKIE] (D) T[S

SHfRT Teb-gR & 31eHT o1 1 87

(A) STTERIGAT 3R TR0 & ol TRER foha1 & HROT
(B) I YA Safad H ST fa=ivard gicht §

() TufeRUI & YT & BRI

(D) SR Fqaft

Fofifad § ¥ o1 U6 oF &1 Teid &7 & T U oy
TS0 1 fIRwar TS 21
(B) faygiaar

(A) 32T
(D) T A FHIE ¥

(€) Jya

fofafad & 3 o a1 & s & SN FifeRor § 9ol 3=
TR W RYT?
(A) NY

(€) =T

(B) TRU
(D) TTUFT
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23.

24.

25.

26.

27.

31.

32.

33.

34.

35.

36.

37.

Fb:-

faraery enufd Heaie & e A e T 81 & -
(A) TS TR T BT T Tl H J

(B) =1 ufdfohan & Jedid He &

(C) T 1] B |

(D) Rignfai & wr fafta Eu 9 iy g §

TA- 3 IRef0T HT qaffs Aegayof ayg

(A) 3THT 3 T Jed
(B)sﬂﬁw@&?mmﬁ&anﬂwﬁaﬂm

28.

(C) 3P AUH
(D) 3% Hal Bt JyaT

TF = i FEfiad TR faivan feas wyifad g3 82 29.
(A) TATERTT (B) T &1 SITT

() T 1 St (D) A 3R e S & Shuu

59 UPR 1 fIpR T3 & Hiex BNl P A A=Y B HHI

Y et 7, S ORI Ueh e iR I8 B foraT g, 30.
() feafeaan (B) feaifamar

(c) fEanftrar (D) e R

IR SR Tipfad w0 ¥ Uwe s=f & e # o9

FYT TE T 62
(A) ATT-oar o @R enfife fRufa ar Sifta Rien & R
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(B) 371 Ruenfifai & Aifees areman &1 gerar it &
(%;)aﬁmma&@f%wwamwr{%mam@é

(D) S5 3fd W I fFaR] 1 W0Rd 1 H HfeTR gl §

fafafed el & § &F I1 dieT gfaHTie sl &) Uem
HT Y8 IUGad a1 87

(A) T2 30 5 B UgM & FordgRY &

(B) 3= 3ifafed gmg 31

(C) S e Faadl &g St

(D) T B! IS T[T & HTH H I &1

UMep U F o cudemsl & fiu, &g Ted
HTIH, 1992, HF ARL G UT_

(A) 1991 (B) 1992
(€) 1993 (D) 1994

g d Qo 9 36 & Y AFRIS WY $) 994 381 &
forg aifires wgcyuf 87

(A) TSI AT & fog wrae

(B) 3ifyeafada &) Taddn

(€) =gl ot fafguar

(D) e &t yffrepT 3R THa P ATaTaRoT

FAR TF 9gd & TN iR Ffgardl uRar & sfawfd o g,
R ITD! Aeg B & o7 71 HR Thd 57
(A) 3T foT U AR Tt SR FHefmail o Wielm o Tohal §

39 fRianfifat &) ORd B3 § fawa g 21
Mathematics
a1 T RT3 BT T . H1TH 24 § 9UT 3761 I HT® 3 2| 38.
Tfe FBeil 1A 6 B, Al ST Geal & ol oar 3R 22
(A) 5 (B) 6
(€) 12 (D) 4

?wuﬂ%ﬁmammaﬂ‘cﬁ%wmvﬁrﬁaﬁ
?

(A) 9 fwi/Ee (B) 10 fHH/ER 39.
(C) 8 fHeit/ee (D) 12 fpfi/me
324 62— 22— 1T HM JId BT
1 1
(A)6;5 (B)6¥
©63 (D) 67, 40.
@ 3R A-RIETE gue § S &) Sen wr
(A) 330° (B) 270°
(C) 180° (D) 120°

T IUYH faded gAaR Fafrad ol & Iw v |
Pl 11| & faeniial o MY Bt Yhed T o1 U=y 33 & forg
e Fufefad fhareant Bt AT s= 1 &

A) for fearan @, R s weffa fbar man g 1.

B) ‘3¥ &1 g foraan @

€) 5gd R 7t yerif ot amdr & Rviig sar g

D) HEM! T WAl B YT F '3M1eT USRId BT 8

e o Rafafad 7 @ fhareanl &1 eF-a1 I8 JufieH

ST PRATH 4y
(A)C, D AB (B)A B, C,D
(©BACD (D)C ADB 42.

g%qu TSR Iugad fadwen g Fafafad usl & S
e T T & b e wR W R debesiall @) e

¥ T T8 B1d &, T, [ : 43,

(A) D& B TRGAT BT 4T B g

(B) F&T & UseH T YeTIe 8id g

(C) = Y 3TIE-UHIG IUAK TR &

(D) THeuT3T & TR BT AR YA HRI &

44.

TS TR RIVG T HeT gl
(A) Ipids (B) HR®
(C) TTEIRS (D) UTfHfes

3 | Page

(B) e & for iy yieror R o wevd &
(C) 3T IIY U I B & ¥4 H dgR fhar orm =gy
(D) 3T 1Y FETIYA BT St =n1fey

T R1g® AP B B 3! G & SHTHR R Rib! 4 3
x 3 F DB T R UdS B YT Bifhd B P oY
Pedl ¢ BHE Bl [T UHR &1 B/ fear T g?

) fafaa g (B) Ve &1

(C) Tg &Hrd (D) A% YIS

AU 2005 & SRR, 70| &t o7 3rf T g2

(A) TN T U=t Bl U HRal ¢ off 85 GHAR U™ B
a1 ) gHeA ¥ Hee HRaTg |

(B) s 3YRUNSH 1 7ford H S TU I dRaw &t Sevd

gl

() Tt SR I Hreafies a1 § TG &1 g a1 ot
DI R B 3T Y PT 95k ST B H AGE S |
(D) SR gt

%ﬁ@f@ﬁﬁ@ﬁnﬁmaﬁﬁ%uﬁaﬂwm
(A)WW%WW@‘TW

(B) U 3HTS &7 & HY ITGA Bt TUFT

(C) IR &I I 1 BT

(D) TTH I FIS T

=T, Ted Juged fasey &1 gd U Fgfafed udi & IR S
fafafaa & @ =1 v e dob-iie T8l 82

(A) AR (B) TSt

() foper AR =é (D) TEMHR

I [ TR R, TF e & 31 g1 I U8d ae W
Tt It ) ferardt § 1 9% =i B b 98 SFRuT AR X .
(A) IR WD GREAL
(C) TONTIHS PP

=T 9o Jugad fasey g-wb{ Frofafad ust & IR iy
ﬁaﬁrﬁ@aﬁﬁ%‘vv 1 HYF el 87

(A) R T RaTd w94 39 &1 uay faar 9 =

(B) UGTS ST dTel! Ty TReAT X g1 A1y
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45.

46.

47.

48.

49.

50.

51.

61.

62.

63.

64.

Fb:-

(C) S § =T I fafid g9 & a1g 3 &1 uRey fear
IRl
(D) T=AT 9 & F1G Y P URTY e ST AT

TN STy ® JHWT BT gl UG B Wi §
(A) TS 3T

(B) THIYH TR UgaA & [T T GRIT 1 ST
(C) TIffafdy amenfyd efpaion

(D) SfgH

TG Y IAHH THo Ho 3o 3MRo o UTEI-T&d ol
SFRIgTaT Y e H Ty vl 1S &

(A) UTou= B 0T 2005

(B) fRrem fr 1986

(€) 2006 H To Tlo THo Fo ERT YA UISTHH

(D) 2006 H I A8 gRT UKTAd UTeushH

e T, ereied faRy U J Ui e & s= A
Igd BT BT off g1 &1 3HaT vanT Fufofad & @ frads
fapra/dad # ar 2?

(A) fenfifay & g & geen gHyE S

(B) faenfifa &Y fora & werran

(C) IO & 70T & pIIe auT i

(D) fa=nffa & fora & ufveser ufshar o1 gHg

e GHT I Bt &, df TioTd & 39T @ o 7-
(A) U B R | Srgwefan

(B) H&T H Teg I BT

(C) faw-avg & qHR ST HRAT

(D) U & BT

FgH et &t sravadmdrelt B o B F AU smawt
U @ gl

(A) JBfetds fRremr-Siftmy 3R Teaie fafy

(B) TRrenfifal & ue Ry e & g Ioi

(C) IO & oI I Pl 3 g g B

(D) 38 IO H I WhR B arell & Sie il

3Tl Ya§ IH A 1 UTSS BT b WRIal| 30+ URAR & U1y b
WM F I, I % Ui &1 IuanT foban| ApoRex & fobar
FD TATR?
(A) 1/4
(©) 2/3

qHigaTg FepTur b &1 HIvT gART __EId &1

(B) 3/4
(D) 1/3

52.

53.

54.

55.

56.

57.

58.

59.

60.

(B) 45°F RTR

(D) TTH AP Ta!

I <t 7S TRemrelt § gl T B 6 & R A 3R gt
gwﬁﬁmmﬁum%aﬁa&mﬂﬁaﬁ,wm:ﬁ%ﬁw

(A) A
(C) 60°% TR

1- 976735

2- 185743
(A) 780 (B) 6700
(C) 5300 (D) 50000
3 mm ®! dam H g5

(A) 0.0300 dam
(C) 0.0003 dam

(B) 1.3000 dam
(D) 0.0002 dam

6H(@N)+3T(GH)+ 5EHTS)HT AH &
(A) 645 (B) 635
(C) 653 (D) 265

2/3, 4/3 3R 6/5 BT AT J1d H?

(A) 6/15 (B) 2/5

(© 1/5 (D) 2/15

T dfeg § 20 forefium aoi9 a1t 300000 eseie B B sia |
it Mferat &1 p I ey & w82

(A) 30fF I (B) 40fm.am

(c) 5ofd.m (D) 60f&.3m

T I A ed o1 g gu Ffarad usi & sw S

24 3R 19 % T H SR J1d Y|

(A) 152 (B) 512

(C) 215 (D) 125

T=AT 6251, 6521 3R 5621 T 5 % VMG AF ST AT AT
(A) 5540 (B) 5055

(€) 5505 (D) 5550

T et IR A, 7 Uil 1 S g

Tfe 52 = 3125, @1 5C-IPTAF &

(A) 5 (B) 25

(€) 125 (D) 625

(9x10%)+ (9x10%)+ (9x10?)+100 HT HH g
(A) 910000 (B) 901000
(C) 900100 (D) 900001

Environmental Studies

goilg W0 TR e R fasar T o
(A) 1972 (B) 1975
(C) 1978 (D) 1982

A Te & Fekifed Al § 9 S 91 UsRE U8
Ropier v 8 o gaiarvita siemge &t ol wufies aror &
foTT Ue TP d UTeshH & ¥U § UG T a1fee?

(A) TT.I.UF 1998 (B) TA.ET% 2008

(C) T TH 2000 (D) T T 2010

A ST b 3T e IR & e € 3rum [Fenlid &1 ugm
¥ SR 319 TGl gRT I Bt T8 TR TR UHTRT STerd
gﬁaﬁfr@aawﬁfﬁn‘fﬁﬁﬁqxﬁmmmsﬁa
?

(A) T&iT & oy Tx9-9e7 STl feamat ok STargadt ey
S & 91 S § I W <= bR & U bt

(B) HI&UT &7

(C) & ERT B

(D) F&T H U0 & IR H UReR 1

W B3 YHTa BT 1 iU 82
(A) 3T Hfcaeh &5 § &R &1 Uguur
(B) 35T IR §RT WRI-§7 fbRuit &Y e

65.

66.

67.

4 | Page

(C) TIHSTH TG & HRUT AR Sl b AT
(D) BT &1 SARG! I THAH

TP BT B TS NCHT §H 3R IYPT IG-IWF A T
(A) T DI WY HISH &1 Hgd UIE- | Gerdl gt

(B) Y= Ffiar s

(C) Ball BT Brefi Bt ufadfirer greft

(D) 32 faaTerd § JHISTR B STaRIHdl BT Yl It

Tl Iugad fadhed g FafiRad usl & IR difor |
ST UTI-Gdeh P! favg-axg o

A) IRUTIT3T 3R SRS BT R T ST AMeY

B) X< UG DI galTied HT d1ey

C) I B U B IR Tio BT HispT fiie1 =nfeu

D) S & Had [ARId STHBRI & o1 ey

e faben 1 g |

(A) B (B) Hdd C

(C) A BTAYUTC (D) A 3R D

oA A oH I vF FN wf § oy 0St ) Freaw 3R &

Y ST B & D I a1 ST 87

(A) A

(C) TR (@) Py
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68.

69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

Fb:-

qiaRT fagm & sremeH & wHy afg faenlf & quie o
I 8 T A e @ B 9 ufkads 3= § 6 1 S
(A) S &mar o1 o

(B) e &1 e & fawra

(C) TAN® & IR WA [9aR &1 faer

(D) TSP &l & HieneTed fazaiwor &1 &l o1 fadbra

Rrenffat ot e g kiG]

(A) BF & FaeR & fore Fadt &1 §=mn

(B) B IRR gRT §914 7Y f4gw 3R fafast

(C) 3ATH SR 3R fFg=or

(D) 3T ATE 30 G & ARG B TR F3 Bt &

YISH BT 3Gl & YR TR Sidf T Suged av -

(A) AR (B) Falert
(©) T g7 @ =TS s) (D) MHTERY
TYHERE! UreH & g & 981 HUF gAT:

I.HWW%WWWWWW@W
qo gl

I1. = & o mynfRea & g g1

1. TYHET U1 3R 3% gRT IdTed WG BT HISRUT F3
& U 9o} Y SaxaHdl Bt

Iv. HeHfRaa! & forg e aia a1 & forg it @i ot 21
(A) Pad | 3R 1Nl (B) %ad | 3R Iv

(© 11, 111 3R v (D) Faat | 3R I

QIéwifea & Geuf A Fafafad Rt & @ o 4 wd 82
1) T8 Ta@R &3 3R e GrIfIeh Uil 7 SMha Ha
A g PRare

2) 390 $ad TP T BT GaY ST HIH AR gidl &

3) U8 $ad X WhR Repls HRal g

4) T A1-fOdT Y 307 = B HHSINRG! R bl P Tk

T S o Aeg Rarg

(A) 1,2 (B) 12,3

(€14 (D) Iuad it

79 & fpyg iR & aredieoi g 82

(A) T (B) SIS

(Q) ®d (D) ufuai

U TR W B H THaR] B IYRUN HY U 64 F g,
g & o O Iugad Miafafy 82

(A) STHERT 3R I HISH FI 3fed! & difsar femmr
(B) TS gRT 3TH-UN & SIHaR! | fafaerar & Sz
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English Language

Which method is based on the theory “From
examples to generalization”?

(A) Deductive method

(B) Incidental method

(C) inductive — deductive method

(D) inductive method

Principle of selection and grading of words is based
on its

(A) teacher's ability
(C) range

(B) frequency
(D) All of these

Answer the following questions by selecting the most
appropriate option.

Disadvantages of deductive method in teaching of
grammar is__

(A) This method makes learner learning about
language

(B) Average teacher can use this method

(C) Only an innovative teacher can use this method
(D) The learner learns the particular grammar point
through it

Answer the following questions by selecting the most
appropriate option.

Notes can be made using a flowchart or a web
diagram. The study skill involved is

(A) Storing (B) Summarizing

(C) Retrieving (D) Gathering

___isthe backbone of learning a language.
(A) Listening skill (B) Speaking skill
(C) Reading skill (D) Writing skill

Direction (96-104): Read the passage carefully and answer

Fb:-

the questions that follow by selecting the correct/most
appropriate options.

The year 1896 saw Athens host the first Olympics
Games in modern history. And it was in 1900 that
women participated in the prestigious sporting event
for the first time, at the Games held in Paris. While it
looked like the Games didn’t take too long to include
women, their numbers were never the same as their
male counterparts. The reasons for this initial
disparity are endless, and it can be argued that since
sport has historically functioned as a way to define
masculinity, female participation was marginalised.

Coming to financial differences, equal pay continues
to remain a work in progress in this industry, just like
any other. History has seen the rise of a battalion of
iconic female athletes thanks to the endless pool of
existing female talent, and the efforts of advocates
who have championed for women to participate in
sports and get paid for the same, for the media to
spotlight burgeoning talent and for governments to
support them. This support has led to rise of the likes
of Russia’s Nadia Comaneci, a five-time Olympic
Gold medalist and the first gymnast to be awarded a
perfect score at the Olympics; Jackie Mitchell, one of
the first female pitchers in professional baseball
history; Gertrude Ederle, the first woman to swim
across the English Channel; tennis player Serena
Williams, who holds the most Grand Slam titles in
singles, doubles, and mixed doubles combined

among active players; and Indian boxer Mary Kom,
who is the only woman to become the World Amateur
Boxing champion for a record six times.

96. Who was one of the first female pitchers in
professional baseball history?
(A) Jackie Mitchell (B) Gertrude Ederle
(C) Serena Williams (D) Mary Kom

97. What is the role of media in encouraging sports
women?
(A) championed for women to participate
(B) spotlight burgeoning talent
(C) support financially
(D) change equipment

98. Which of the following city hosted 1900 Olympics?
(A) London (B) Atlanta
(C) Chicago (D) Paris

99. How many times Mary Kom has become the World
Amateur Boxing champion?
(A) 2 (B)3
(O R 7

100. What is the historical reason of less participation of
women in sports?
(A) Sports was the way to define masculinity
(B) No one was interested in sports
(C) Women were not eager to participate
(D) Sports was considered feminine

101. When did women participate in the Olympics for the

first time?
(A) 1900 (B) 1896
(C) 1904 (D) 2008
102. “their numbers were never the same as their male

counterparts”. “Never” in the above phrase is a/an?

(A) Adverb (B) Adjective
(C) Noun (D) Verb

103. The word ‘burgeoning’ means the same as
(A) Falling (B) Dwindling
(C) Growing (D) Tumbling

104. The antonym of the word “disparity”
(A) Similarity (B) Gap
(C) Discrepancy (D) Inequality

Direction (105-110): Read the poem given below and answer
the questions that follow by choosing the most
appropriate option.

A black cat among roses, Phlox, lilac-misted under a
first-quarter moon, The sweet smells of heliotrope and
night-scented stock. The garden is very still,

It is dazed with moonlight, Contented with perfume,
Dreaming the opium dreams of its folded poppies.
Firefly lights open and vanish

High as the tip buds of the golden glow

Low as the sweet alyssum flowers at my feet.
Moon-shimmer on leaves and trellises,

Moon-spikes shafting through the snowball bush.
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Only the little faces of the ladies’ delight are alert and
staring,

Only the cat, padding between the roses,

Shakes a branch and breaks the chequered pattern
As water is broken by the falling of a leaf.

Then you come,

And you are quiet like the garden,

And white like the alyssum flowers,

And beautiful as the silent sparks of the fireflies.
Ah, Beloved, do you see those orange lilies?

They knew my mother,

But who belonging to me will they know

When | am gone.

Which scene is being referred to in the given poem?
(A) Garden under the moonlight

(B) room

(C) Vvalley

(D) None of the above

What phase of life is resembled in the given poem?
(A) Childhood (B) Adulthood
(C) Adolescence (D) Old age

What is the figure of speech used in "And you are
quiet like the garden"?
(A) Metaphor

(C) simile

(B) Personification
(D) Hyperbole

Who is the speaker referring to "In then you come
And you are quiet like the garden"?

(A) Husband (B) Son

(C) Stranger (D) Listener

What is the figure of speech used in "High as the tip
buds of the golden glow"?
(A) Metaphor

(C) Simile

(B) Personification
(D) Hyperbole

"Shakes a branch and breaks the chequered pattern”,
which is being referred to in the line above?

(A) Speaker (B) Listener

(C) Acat (D) None of these

Arrange the following steps of remedial teaching in a
proper sequence.

1) Diagnostic test

3) Appropriate Strategy
(A)2,1,4,3

(©)2,41,3

2) Identification

4) Remedial Instruction
(B) 3,2,1,4

(D) 4,2,1,3

A teacher trying to check responses of it's students
teaches them to cut a paper on a straight line. She
then decides to check their ability by making them
repeat the task using different papers and cloth
materials. The children followed the same
methodology independently. This can be said to
comes under which stage of learning?

(A) Acquisition (B) Generalization

(C) Maintenance (D) Adaptation

113.
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118.

119.

120.
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What should be the sequence of steps while teaching
prose?

1) Silent reading by the pupils

2) Explanation and word meanings

3) Model reading by the teacher

4) Second reading by the teacher

5) Comprehension questions

(A)4,3,5,2,1 (B) 3,2,4,1,5

(©)3,4,5.2,1 (D) 2,5,4,3,1

What are the things that as a teacher should follow
before, during or after the parent teacher meeting?
(A) Start the meeting by showing that you care and
know something positive about their child.

(B) Do use materials from the student's work folder.
(C) Do use clear and descriptive terms.

(D) All of these

Multiple Choice Questions

(A) reduce subijectivity in evaluation

(B) increase subjectivity in evaluation

(C) allow essay-type answers

(D) allow students to choose multiple options.

Answer the following questions by selecting the most
appropriate option.

A student says “I buy a car yesterday”, what teacher
should suggest him?

(A) Teacher should explain grammar rules

(B) Teacher should correct verb

(C) Teacher should ask student to correct sentence
(D) Teacher should suggest student to do not lie.

Answer the following question by selecting the most
appropriate option.
The exponents of behavior modification model of

teachingis__
(A) Robert Glaser (B) B F Skinner
(C) Bruner (D) Thorndike

While preparing the prose lessons for the students
what are the features that the teacher should keep in
mind?

(A) Material aids and previous knowledge

(B) Introduction

(C) Statement of aim

(D) All of the above

Which of the following programme helps students to
reinforce their knowledge and develop their
communication and co-operation skill as well as good
interpersonal relation?

(A) Reward scheme

(B) Handling pupils language acquisition problems
(C) Peer support programme

(D) None of these

Perception, imitation, feed-back, and drill are the
steps of which of the method of teaching English
speaking skills?

(A) Phonetic method
(C) Subsidiary method

(B) Imitation method
(D) Source method

Hindi Language
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BT 2 3R B U 7 § W g

Tg AIoHIEE SR § St bt Riges ) fopelt fawa 1 fawa
TG P IR A B &e7ell e Rrd et H Hag PR 3

Ans.(D)

TIHU® 2005 & SNR, HUG JHETS dedf # dra &
o wen @1 IR ARl & Wiar a1 T 9971 dearg T8t
21 U8 BT P AU graTere oo § e & ua § 2l

Ans.(D)

ST e W, W U7 TAAT U &b Ry Aefirew
7Y ¥ Fad I=gd BE & AT RWSGR FIRT & g,
WAfe afg oM WHa ¥ S & A9 SR I+ argd
g @ emus!l @aft B & T I=ad BT B REG I HRAT
aqIfeu

Ans.(D)

8 a¥ DI Mg W U s wHH-feiT & st & wry =iy foeran
AR &A1 Y& FRAT 8, 319 98 TgHHT gad &b Ul s
G 8 ST 8, THg Tafafiat o1 e AdT 8, 7 Sead
3R UIGTHS ATeH B Bt YRy $I gl 8 3R 39 org &
T 9gg 3R BidT § 3R fohary S b Iy e &1
AR HRAT ISP [T T HIS gar g

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.
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Ans.(D)
Fel odl 2 5 ISP iR § A & 98 & RS
ITF i 3R e B yHIfdd B3 a1d 9168 RS ¢
39H Frgfeofad wivd 8 9od g1
- g & 74 # arararu
. 9 & §1¢ SUA ardraRl
Ans.(D)
IR 3 & Hed &1 Rigid fAded a, b 3R ¢ & aftfa
Tt g Qi &t =nfire wRa B
Ans.(A)
B T RR IS IR A1 A€l g

Fife P15 ff afdd $ ergdlRie arh d
gbdl g
Ans.(C)
g BE & REarar g 3R
& & gt B g1 81 T Rreror &1 ufkoma &k gy
B A W T 3R BE B I B 3R TH-gI Bl
TP B S SR T B g e weT 71
Ans.(B)
U e b1 ST AT STell §
&n's‘azl (@RIE 3MRY)x 100/ (AAMRAE 1Y)
1Q = = x 100
Ans(B)
Freaat 7 Afde (e & dF TR 3T ugaH @I, S gd-
IRUR®, TRUNG 3R U4-URURS 2| UAS R Bl 3
a1 3feT- e TRun H fawnfora foram man §
Ans.(A)
BYHT IRDT 7 A= gdhervr g fean o foht aufaa &
fddd & A9 & T IuanT far orar 8 39 Wiel-diee
Tdemr F U H WS ST R
Ans.(D)
W S & AR ¥ W | gd-faeiya femm &y
UgEd € ST S @1 B SR EWBIU B FHS S
TIRY, 3R feror 1at B g TR
Ans.(A)
IIATHS 3R HEaTHS A/, Irrfe gfuemdr, OIom,
Iras o1 e, 3T TfTal B Sexdl B PRUN B Al
o faRw afdd & i - anfife fRufy, g «R & ofar
SN FRe ff IfFadl B T W ¥ @ A
gIemIafrear sk yafaror fasr e afdd 99 § 8k
Tg 3T ¥ e rgafear ok wafazor - € wfed
gﬁa%mmﬁﬂfwmﬁ%,wsqﬁwwﬁm

[
Ans.(C)
THATAT U ) udten &1 o=t fadwar 48 § Fifs
THAT I TR0 & T1Y BH &1 A 3R b &HaT o
RIS TEI HT AT 6T HR THT 3|
Ans.(C)
A & B0 H S F9HT I=dH WR ¢ ISTARTaHdaref
P ¢ TP T YN BT TS Iy 3@ S ATGIAGAl gial
20 $© T R @ U A YA BT € SR 3
YR U T07 =7 I IS 14 ¢ 198 Ufhar 9¢ affe=o
7 ga¥ $feT urfie & B
Ans.(A)
faeraa snutRa geated & wregw q, e o faenfiagy
o gfafear 37 o gud g § U 9% ot ¥ oifdw
g & Aeg FRaT gl
e T8 e f

- Ul bl HedJUl Y DI AUD
uﬁaﬁ%lwﬁﬂmmm%

4
4,
2

Ans(D)

TS S, STgaRiedr &1 wufie snuR g1 9% A

T @ 3 Rred Fis ey e AR i B o

ﬁm FU Y MIAIRE SRS § FHIAd gral
HE-gg+t ¥ dis fHu U A & mreay

W&WWW%WWMW

TH 9= B o9 3R TURGE & Aeay ¥ R Bt

@ﬁﬁ

A
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28.

31.

32.

33.

34.

35.

36.

37.

Fb:-

Sfaw srgafiear o gt 81 ¥dH, rua Arar-fadr &
U M

Ans.(A)

feQifqar, 9= & Hicx Pl S AW IAGY B HH I
Tefid g, O IR uhsT R SN $© o 31 39
ffeR & T2 & AW 3R AR Wl $ g9 gH9g
RT B33 & HieATgal &1 FrHAT B USd g |

e 3R 4 U qifdd 9=, 37 AN » I
T o oifa, o, o ar T O g iR ot SRul
Y dfed g1 3 Ruendf Afde emare # &7 gam B §
i 3% T 9gd HH Ysgracl gt 81 $uF Mfalaa
3 Ifd P A TRl @1 IR B3 § Hig=dl &

B TRTI Tt 9= BT UgH T A4S aIPbT 37

29.

30.

ITd *fd & BH H W 3@ gl B 5= B ITB!

gfaHT ¥ Ifa Ry sramsTHe, Teide iR 3T o1H fau

EIEEE

Ans.(C)

Qe DS reudegs! & forg & 787 HTdHH 1 1993

7 WM w0 ¥ oS scueeradl & e & a3 o

e gfd SR gRu IeH o33 & Ie 9 [ a1

o un, oy wufte R mafie e & o vafw

g™ e g1

Ans.(D)

e 3 BEl & AMRYS W ® ggar o H

Teayul yfysr Aurd 8 Ifesl @t 9ga at Rmeiat

Bl T O B PP U I W H1 H AGE I,
$ Aqd 1 YfAeT AUEL, T GRf&d e &
P FE TG

N B AARE U ¥ W g4 §, 9 e IRd g4 §,

WY SES Bid 8, 3R el § I a4 § G&H 81d g

Mathematics

Ans.(B)

T, Teh AT x § O QORI AT (6- x) T
3d, x (6- x) = 24x3

gl x%-6x-72 = 0

T, (x -12) (x + 6) = 0

3, x = 12 T x = -6 [BUTHS HH I0fEA]
MO, G 12 YT (12-6) = 6
TR SR B

=12-6=6

fdeeu B TE IR B

Ans.(A)

PR GRI R I T $d gl = 108 foft
JHY @ = 12 6

yfa g ot 7ifd = 108712 = 9 fpelt/e.

A

677 6-77°7

Ans.(A)

TH U= 90°

mn,sgmm:%xgoo = 330°

Ans.(D)

o e Fyfafaa vl o s sarar g e
FHHT 11l & BIA DI '3MYT P AYROM B 3G A BT
faurfsra &3, ‘snd fsl &1 fomrez O foor wnar 81 9%
BET BT MY DBt DT B H Hee O e wgmt
1 Yeg FATT o '3 BT (A &1 3fd H Rersp 3’ &
fore uedtes feamem | ufere, wgt sFH C, A, D, B ®1
Ans.(D)

W Wi TR R T rgyrRonsi & gy # Ace
PR g, Fife I BET B GaArel, geull, Yo SR frdt
SAYRUNS BT U T & AT WEfed HId g1 T
QA Ht S B BT TR TS Pl g difp o
Tforg @Y rguURumSt B HY TP AR A S| J ITB!
SayrRumel @t Wy Hd T R BF & Seuirdy
PiErd B o gerar 3a |

Ans.(C)

TUAE IS AR = & WA HRIR B a9 Hgayuf a9
HA ST 1 98 K-5H B It 319 U BRd § o
3T AW e & T YR & FTU H IUUNT B | 39
W R BE F AU 999 Ag@yyl I I0E & uld
YHRIAD B f[GBRIT H1 21 BE &1 1ford ot
HRIAT B JHA 3R GRS BT A1eyl g F
Hih= & 3farar, Wy ey & ol & Rarn s
1T {3 TTOrd &1 ITANT 3ruA e Siae # 4 B3| I

38.

39.

40.

41.

42.

43.

44.
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g & gt ST, aRgHar a1 Hem d S0 BT ST
S, INTdT T 9T & IR | 3G HIAT 1 AR
ggforg, Urufiie TR R T ol Agd ATGeIRS 2|

T 95 P&l § 3 B & diid HH Sfcad 7y 7
b | gaTa fRign & SR, 9 SE @ ¥HAH ¥U 9
FagR fHar o1 A1fgul 98 fauy al a1 wemsi &1
JUANT SEBR BT §, Al fAwdiT BTl B 3T B
& forg anft off faxiv wpall a1 wamsit &1 ITART Ua™ Har

%1 GaT T BT UesE B 3| U8 el Tisd

F WY AS-X WrAfed yexd qeaie raf ok 81
P T9 g1 98 UP oAfed & R R

TOATAG S B AYAT § FRaR &, $8 FARar wfafafy
R & FRAR 9 Hfad s S o

gHa aF uRife

Ans.(A)

Tird 35U U &1 Qarm Hd 8 S g8 307 T9-Urg &t
T & wueH & deg FHRar g1 SN SR sy ¥
FTH! 3fdw, g ot U fafay fawy B, < 31, 719 3R
Jqdlie gRI fagq ¥ Tdfa R:Fe wadt iR
AT, JUT TR Aied, Wiefad gedr, HHd agR SR
ST Jomferdl & Ay |

Ans.(D)

o 39 o # it § fos a5 B, fifea, SSifafan,
fua, o snfe ¥ faftw & § suererRT I
FRAT 21 SR 3T T IeTexvr T a9, $iy 3iR fae o
T BT ITNT R & 3R 3T ThReT®D! WdHING Upfd Bt
Ao Hd &

Ans.(C)

fired ofiR =1 Rrar weras § St Rieor ufsran &1 Rar
H Teg BRI € SIR Ulhar HI M MR FlIure s a7
g JefF AR, I SR AeTHR Rgur aH1a B
gufore, gt fawed ¢ 71

Ans.(B)

UIGAIAYY 1 IR B b &l &1 81 Hebdl ¢ | U H BEA !
B AT Rigid Saex ST@! o a1 g & RwsAe
ISR T A0 &1 g H U5 3Hd IaTeR0 SR B A
D g g Feaann S 31 uget fafdiet Faerers
fafey 3fR gat Y ST f3fY B g1

Ans.(C)

Fr3fe (@dh) &1 o § wipfaw Semst & Wy s
HRA aTe I o 1 ¥ 3R Bl 81 G PIs I Ugel! IR
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45.

46.

47.

48.

49.

50.

51.

52.

61.

62.

63.

64.

Fb:-

Frefen (fadh) draar g @ sfEn @ &1 H1g ot
frar 98 87 W $7 Wt I AT yme T8 g g1
3T 99 I B HBA F FH BT I gl § al et off
UHR $I Yifd 7 81 ST Y § SaTd ST A1
Ans.(C)

T g™ H T &1 g UM gRT RIgieh 81 31 39 IRE
TEg Rl ¢ fob a8 T & Ricidl &l T 99e 9% 3R
3 gl &1 T T, Tteror 3R g A B R I |
Ans.(A)

A TSRS B TG &1 Uled-Ydd P urgaadt st
FI@T 2005 Pt RGHINRT & &= F I@d gy fordiae
B RIS UTeredl &1 TR YRA H TTASSRET gRT IR I51
rogadf &t FRE § I T g

31, faswea A T 81

Ans.(C)

IRHw T srvrea wufie ey & §= & a9
AT €1 T 7 AR T § T HIYd Td T DY gem
¥ fore v faan Siran 1

Ans.(C)

vy avg ¥ qHE IU= HIA- IO IAT HIA & Y

TS 3 YsIaat g1 U Reh 30 B & TR & gaof
o 999 3w U1l gl Hel H, B $ IRTDHT TR DI
& § Y9d gU IAEE ST~ & o A1fe |

Ans.(A)

Jofeys Rremr-ifnmg ok geuiey fafy- S99 ¥g S A
ﬁmﬁa—cﬁ%ﬁswﬁmmﬁ

Ans.(A)

IPBIoReR | §91 $b BT AN HAT

= (1-3/4) = 1/4 UI3E

Ans.(A)

gafgarg AYS & & HIvT gH= SRI&R 8Id

Ans.(C)

g8 YT 976735 § Foraw ¥ 6 &1 wHig A J1d BT B
9 6 & T A 3 (735)8,39M 6 S §1G A I A

I
H 6000UTH BIdT 1 T8 6 BT ”IMI AF 21
3 689IRS VI TR g1 3bT A 6 TR 8l
3T TS ST DT RIFIT A 6000 B

T UHR GINT WA 1857437,

53.

54.

55.

56.

57.

58.

59.

60.

7T RITHE AF 700 B

3R 3% & 3R 6000-700= 5300

Ans.(C)

fou U I=E B 104 A T A R

= 3mm=3/10%dam

= 3mm=0.0003 dam

Ans.(B)

6H (TN +3T(ST) +5(3PTS)

=600+30+5=635

Ans.(D)

A ST U= AN FTHIY / R BT 9.0
= AT (2, 4, 6)/4.9.9(3, 3, 5)

= 3R BT H.H.9 2/8X B A.9.9 15

29T IR 2/15 § o fdbed D g1

Ans.(D)

U& d1a | 3000000 Tferat gt € S8 Ud® &1 a9 20
foreioma grar '

dl & a9 = 3000000 x 20 = 60000000 fHETH
fearms ® 9919 = 60000000 / 1000 x 1000 = 60
feamm

Ans.(C)

A BT ITART HA,

A2 - B2 = (A+B) (A-B),

3{ag® 3R,

=242 — 192 = (24+19) (24-19)

=43 x 5= 215

Ans.(D)

T 6251 H 5 BT I AN =50

6521 H 5 &1 R M =500

5621 H 5 ST R A =5000

YT 3TI=gSH TNT =50+500+5000=5550

Ans.(B)

52 = 3125 — 5% = 53

—a = 5.

S 5(a—3) — 5(5—3) — 52 = 25.
Ans.(A)

(9x10%)+ (9x103)+ (9x102)+100
= 900000+9000+900+100

= 910000

Environmental Studies

Ans.(A)

21 ST 1972 B Ioid & AfAFATH, 1972 TIRd gan
Y1 dfbd 38 9 RydwR 1972 o1 AR fbar |

g IRy Sell SRl @ Ueed, ARA, WeR o1
YT M BT IR-BTA HIR ST ¢ 1 T8 T 3R FR
I H BISHY W0 URA H AL B

WG YRd & UIcd & 3UR, YRd PR 7 TIId
@Rem AfFEE 1972 31 fafvm SE=at & Wy siffafia
fPar g1

Ans.(C)

HHTE R UrehH BHa®), 2000 7 R 31 § &
qafaRur 3feage oY AqUf Ui AROT (el 19 5 dd) & forg
THUBIPHd USTHH (T SA.0Y & w0 H) $ U § ygrl
ST ey, | % fagm ok wmifSies srwme &t avg fafky
YN & & 0H UGMT ST 1| TH.8L.% & ifd gxdiast 1975
F STERFET 1 3R 2 U8 ¥ g 3409 & R w@ipd
IGAUHH HISTYRUIN B UTer R 38 A

Ans.(A)

-y FRenfiat & Y € Tadh 3T &l SITRew ol 1 3
Rreor & gHRE, THdiEl SR FANTaS a6d B U PR
AAge B! §1 $D T €400 Al : eaifdur, fhe,
FIR, Wy, e [y, shwat. anfel

UGNU 3R ISP gRT 3T g8 I0T favg &t ggH & forg
TR JUGRUN HT Y&y BT Ja Ay Ay § ifr =
o) Tgm 7 Tt Sfeat o1 va aRa §1

Ans.(C)

HTET3Y UHId argHsad TGl gRT 9R ol & had 3
1 gon &, o faw 7t &7 & aromm § 9f gt 71

65.

66.

67.

68.

69.
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Ans.(A)

T DI 3D YA PP R IB Al § A AR T

Rymon oI =feT fob W & o7 g1 e W Bt fes

IR 3§ FEN 6 W= T@HT HY T AT § 3R TR @M

ST gl

Ans.(C)

€T1°rq35l eI 9 YW faRwareft & guifdt g1 fpsf
it 3} uTeugas W Wd-fawgs g9 & gomg ygfaro,

TEHUl, 3= AN 3N & WY Fd9d & g= BT Aqd

FHAI AIfgUl O, SATY UTSugdd H AR H e B

ren @1 garEfed ST @R, faavur SR ufkumwish ¥

T A1RY 2R S B FaTd B 3R TN P AW

e HAT1 TMRTI

Ans.(D)

39 UPR $I Y H, U] Bl HIch 99 &1 U Bl &7

T 3T oTaT § iR & STemar oirdT € | 59 YA &1 IuhnT

FS auf ab B B ST | frar Srar 71 o9 i)

IS 8 Sl € df &7 &7 Iuan iy Iz & fow e

forar wraT B oIk I BYs e Srar g1

Ans.(B)

gAY Han § sraurunel & g & e siydrsi ok

FHEM! e BT IUANT JRE & dféd H § Hag Hal

B tw g qrriore gel # 9w emar, Wds 9 iR

Aeaqul fazawur &) sRid #37 & Y ue fage ve=f

1t SR B T 21

Ans.(D)

Rrenffat &1 w@-Pags 396 Ut dren @ AR

B DI 4HAT I Faffd ST 8, AT B! 3@l H 9= &
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70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

Fb:-

A, aeR R WIfd # 3TH1 Ag@yul ™I g1 98

gﬁ,wﬁmﬁiﬂrﬁmﬁwﬁmmw
|

Ans.(C)

HIoH &t offgdl & SMYR W Sfal & Fofafead o &

Fiffeprd foram o &-

arTeRY offg -3 Sffg, S fH o SHaR a1 7 W 1fdd

Eﬁﬁ%a@f‘\;ﬂ'l

MHERT Sitg — J S, ot Neff 3R TR Ikl wR

3T 81 €1

TafgRt sha- 3 oftq, S el 3R T/ a1 R onfdra 8 §

- 99 o, foeeh, B, T enfe |

Ans.(C)

STl | AY THA B B WWRT 79 J9T S W o @ 3

TOR & TES 3R 3 IATG! BT TGl T & HRUMHHIRI

U 316 U AIHE® 3R 3TN 39H & w0 & wifd 8

Tl g | YA UTa & I & FU § WgEiR 0 ol

= I Heayl ¥ T ol § W A 3R WG of SR o

Y-y fS-TAl B WU 3R A AT b1 HEf oft

Pl & 1Y Tt B & Uit T mellifera 3R cerana Sf&T

Bl ARR AT 3R TR H beekeepers GRT & ST ST B

YT UTeH 1 T 33T THY SHageR ¥ TR I 2|

Ans.(C)

QEHIerAY T famdt & SRM 9= & ST &1 TUg 31 T8

U fqHTEl # Had 9= & qdgs w1 faffa e

197
b
i
%i
£g
=52
i

%’

S g&f T T § IAE & Uw Wi g1 39 Ut
amqﬁﬂaﬁ&naqu‘sﬁ‘sﬁ?ﬁgls——rﬁ@r

A
SHTY & wHIHd BB 1 I . rATRoIS
W?»%%E gaTaRul & o9 goel B gHSA @, §l

BU SR 3id: He&fd wHy & forg s/gufd 37 & fag g
Myt § SR a3 & JHS H el 3 & 3(drar 75
#I TR 1 & T T faRRYe uRey

ESREREts
"
&

%g

YyRd A RRwl & oa fvar aRIR 7 Owg
TR ¥ & 7fde g

Ans.(D)

. ST RreaR, =it W # fd grar 8, 99T Riear & &4
qal &1 Ul qHT 9 TR §: o€l - 50% ¥ 61.6%
qP; O - 19% ¥ 17.2% qP; FHdA- 30% T 21.1% dP |
. TH RYeaR BT IUTNT 3BT HIRAT, 3R Td1 (SMATR
R Td @ee), S P URIY F RO I3 THA W
SRR &1 TN fHar oA g1 du e 3= fagga

80.

81.

82.

83.

84.

85.

86.

87.

88.
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UfeRIY & PR 3BT IUANT ST Bigd I TH B A
1t far ST B
Ans.(D)

U - 7 98 Ul & 9E g9 & @A a1 Ao &
ﬁmwwﬁg@maﬁwaﬁam

@r%ﬁ&wmﬁmm%sﬁ?m

AYFHEUI- wmﬁﬁmaﬁww% ‘q:uf 3R

éﬁ_{WNUWTvr%wNwaﬁa?WQﬂa?“r:ﬁ%% g
Y UHR dRA 3R 31 @7 6T o I6d §, I gy

J AR FReran|

U - I 31 UTH! Bl AT HIA B UfhaT g1

TG - YYIHRU Bl 59 qh1d A, 319 iR dRA gad

forgror &1 7 BT ST ® SR TH 99 & R g9 arelt

I B THTAd fbar orar & @ik fafdry s & wufaa fe

S R

Ans.(A)

TR ITATATE TP, B B GRT WA DI STYRIT

TR IR T 81 78 "H BT §, H IgIR IHCT g, M

AR BT TRV HIAT 5| 39 P H 92 A F gRT

TE F Y-y g9 3R TgHHA I F A & IqIY

qadld HYb dREd 81 g8 9= &) IdeiNe ufpar #

BRI U dl & U H 3@ & ol 3 F9 & Ao
F AW YT BT 8

Ans.(C)

TAR T 2005 F IR el 5809 | fawg uRar
3R s &1 Iu-fawg Tt |Gn——|a€raﬁ? 4f & Y Th
P Gy O T fHar WU, 39 R UHIY S & g
aqwﬁrsﬁiﬁﬂﬁr(maﬁ?tﬁm)aﬁgw?wﬁmﬁa
fpar mar 21

Ans.(B)

U TR RS A TH S a8 :

a) faftrs demsfl, Sierl, ofR TR uRawr & gervyg <l o
SMYRYT THHR] DI T & I DI & §HT

b) U Hafyd fafd ¥ & & UeelA &t 3ied [Jefyd o=
3R Jgdvue 3Medl B TN P Hed IR AR 3R
TS dl GFl & S9TT I@T

¢) Tafyd Uishdr & B FA BT 3ed (B T 3R
Tlpdl & 1Y BRI BT G

d) I% NH 3!, AFfE, TR R Iifsd e d
g A o lyd e

e) T T TG, AHTABATED 3R AT 07 ARy
HRAT| TP SR IRAY & e | Tt Bt S TR
Ans.(D)

It fRrem ifq 1986 7 A & T TR 3R ol it &
o vaforia Rren & Idy § SEEar 9T B B
WWWMl u‘s'etrﬁsﬂaﬁwsﬁ?etr&

Ans.(C)

S YT YU & B & e A & aed w1 @
€1 3 I & ITIR RER 81 3 IRT HA & T
T$ Agayul e furd 31 Reet 3 8 @l ©
mﬁ%mﬁﬁ%ﬂ@ﬁ%%ﬂﬁﬁﬁm%%ﬂ
UMl T ITANT ST el SHH 3aArdl Ufdfshar &1
IunT Wew @t ufear # ot SR1eR Bt Yffrer Ay 71
fafafy dEa I BE @ IHY-gHg R ufafear 3% uH
THRIAD foan § AR B3l 21

Ans.(C)

¥ 1853 ® 16 UT B YRT B! Ugell o7 I (Has) I
B0 I U 34 fharier d% Tdll Ug dge Ml oA
R 8 T, gear ok Riy a7 & &9 w1g g9+ gRT
Tanferd fosar Tam o

Ans.(A)

TPl 3R I F 99 TR 39 &3 H §¢ 9 § e
e auf gidt B, 919 iR dHsl & J o 9HHE F 10-1
Wie FWR B 8, A% T8 916 q yHIId IR |

Ans.(C)

%%P

S A
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S gar Remdf et ure § w1 @R @d ®, @ Rigre @t

T S A AT a1 v faerey afafafy smafera

F aIRU Al Rigres & @ § & o ure & S et

AR T, d Riere Y I a91d AT fam sremaa & ufd s

o fd B gft sufe ure # B Oer B & fou &%

%@Wuwﬂwﬁﬁ&ﬁ%@rﬁq&mmmwaﬁw
|

Ans.(D)

gl Tfafafy & T YR Rl & U § I foban
SIdl 21 dRdide faaie WY geasl & dEdar g o
Usd &g § R-TRe aiie ¥ Wy FU F AR I
¥U ¥ for@ U ¥ I Rerd forgd o9y U uIeR
F B BT IWAN far STl 81 I8 UH gl &l Th
qRdfde fdaor @ St gedl &1 $IH, 71, Hgl, B 3R $Y
BT aTd ST B

90.

Ans.(C)
@ral Rkl =i m%féﬁr g g K

3

HI IUGNT FR Wed] &1 Atd 9 Sfadl & 91y Srg?f | @ren
gy B Mfafafy B 3T 39 UPR @

1) B GHI & AT Bt MAraedl ¥ &I rsaraa &
I B3 | & g

2) BT A&7 Apfd & Qe 9o o
D faamfa w4
3) BET A Sieq BT [CEaRGRUI

English Language

Ans.(D)

The learners learn the particular grammar points
from parts to whole from examples to
generalization. First, they have to deduce the
meaning and later they generalize the form or
structures.

Ans.(D)

According to this theory items of learning should
be presented. Essential vocabulary and and
basic structures of a language should be taught
first. Selection and grading of words is based on
its frequency, usefulness, teachers' ability and
difficulty level. Therefore, option D is correct.
Ans.(A)

In deductive method, the teacher uses a
grammar text book. He tells his students rules or
definitions and explains those with the help of
examples then he gives exercise and ask his
pupils to apply the rules. Disadvantages of
deductive method in teaching of grammar are
that it makes learner learning about language
and it cannot develop communicative ability
among learners.

Ans.(B)

Notes can be made using a flowchart or a web
diagram. The study skill involved is summarizing.
It teaches students how to discern the most
important ideas in a text and how to integrate the
central ideas in a meaningful way. It helps
students learn to determine essential ideas and
consolidate important details that support
them. It enables students to focus on keywords
and phrases of an assigned text that are worth
noting and remembering. It teaches students
how to take a large selection of text and reduce
it to the main points for more concise
understanding.

Ans.(A)

In any language, attending to and interpreting
the oral rendition is termed as listening. The
student imitates and memorizes linguistic items,
such as words, idioms, phrases, tone, etc. and
thus learns speaking the language. Listening
skill forms the backbone of learning a language,
irrespective of the fact that it is a first language
or a second language.

Ans.(A)

The line “Jackie Mitchell, one of the first female
pitchers in professional baseball history”
suggests that Jackie Mitchell is one of the first
female pitchers in professional baseball history.
Ans.(B)

98.

99.

100.
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104.

105.
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107.

108.

109.
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The line “for the media to spotlight burgeoning
talent suggests that the media brought female
sports persons to the spotlight.

Ans.(D)

The start of the passage suggests that the 1900
Olympics Games was hosted in Paris.

Ans.(C)

The last line of the passage “Indian boxer Mary
Kom, who is the only woman to become the
World Amateur Boxing champion for a record six
times” makes it clear that Mary Kom was the
champion for 6 times.

Ans.(A)

The line “sport has historically functioned as a
way to define masculinity” makes it clear that
Sports was the way to define masculinity. Hence
option A is correct.

Ans.(A)

The start of the passage suggests that the 1900
Olympics Games was the first game in which
women participated. Hence option A is correct.
Ans.(A)

“Never” is an adverb of time as it is used to
emphasize the time element. Hence option A is
correct.

Ans.(C)

“Burgeoning” means “developing quickly” which
is same as “growing”. Hence option C is correct.
Ans.(A)

The word ‘disparity’ means ‘a great difference’
and it opposite of ‘similarity’. Rest of the options
is synonyms of ‘disparity’. Hence option A is
correct.

Ans.(A)

The given poem describes a garden under the
light of the moon, as well as the flowers, animals
and insects one can see, and the finality of
death. Hence from the given options, Option A is
the most suitable response.

Ans.(A)

The phase of life resembled in the poem is about
poet's childhood as she looks back on her
childless state at the end.

Ans.(C)

A simile is a comparison that uses "like" or "as".
Thus, “quiet like the garden" is a simile.

Ans.(D)

Through lines "In then you come and you are
quiet like the garden" the speaker introduces
another character into the story, "the listener".
She directs the remainder of the lines to this
unknown listener.

Ans.(C)
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110.

111.
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114.

115.

121.

122.

Fb:-

A simile is a comparison that uses "like" or "as".
Thus, High as the tip buds of the golden glow" is
a simile.

Ans.(C)

The above lines in the poem refer to a black cat.
The black cat is prowling through the
undergrowth and “Shaking” and “breaking”
branches. These branches fall from bushes and
trees into the “chequered pattern” of the garden.
Ans.(A)

Remedial Teaching involves four steps:
a. ldentification: Weak students should be
identified with the help of certain tests.

b. Diagnostic Test: A diagnostic test in language
is administered to find out the Ilearning
difficulties and its causes.

c. Remedial Instructions: Remedial Instructions
are to be prepared for the purpose of remedial
teaching.

d. Appropriate strategy: An appropriate strategy
is followed for remedial teaching, after teaching
a test is administered to ascertain, how the
learning difficulties could be removed.

Ans.(B)

Here teacher changed certain aspect of what she
had taught to children and examined their
response to it. Hence, it falls under
Generalization stage of learning.

Ans.(B)

The teaching of prose calls a special attention
while teaching prose the main objective of the
teacher is to enable the learners to an extent
that they can read or learn their text by
themselves and find the Ilearning process
interesting. They should not just read the content
but understand it as well. So the teacher should
follow a perfect way in order to make the
learning interesting and fruitful. While teaching
prose, the sequence of steps:

3) Model reading by the teacher

2) Explanation and word meanings

4) Second reading by the teacher

1) Silent reading by the pupils

5) Comprehension questions

Ans.(D)

Keeping in mind teachers has many children
demanding their time and attention; a good
conference can help a busy teacher to focus on
what your child needs. Review reports and check
your files from previous conferences to see if
they remind you of important topics you may
have missed. Be clear in your own mind about
each child’s strengths, weaknesses and
appropriate goals.

Ans.(A)

Multiple choice is a form of assessment in which
respondents are asked to select the best
possible answer (or answers) out of the choices
from a list. Multiple Choice Questions reduce

116.

117.

118.

119.

120.

subjectivity in evaluation. Multiple choice
guestions are composed of one question (stem)
with multiple possible answers.

Ans.(B)

The teacher should correct verb. In the sentence
“l buy a car yesterday” which is defined in past
tense but a student used a verb in the first form,
which should be corrected into bought (second
form of a verb). Hence teacher should correct
the form of a verb.

Ans.(B)

Behaviour modification as a formal technique is
beyond the scope of this site, but teachers
practise it willy-nilly. The exponents of behavior
modification model of teaching is B F Skinner.
Shaping" was Skinner's term for the gradual
modification of behavior by the reinforcement of

desired variations. Skinner believed that
"superstitious" behavior can arise when a
response happens to be followed by

reinforcement to which it is actually unrelated.
Ans.(D)

For a perfect learning a perfect lesson in
required. It is mostly noticed that students take
least interest in learning english so the teacher
is highly responsible to make the learning
interesting. So, the teacher should use the
material which makes the classes interesting;
he/she should always try to check the previous
knowledge of the students and provide the
further teaching as per the requirement. The
introduction part should always be influenced by
the previous knowledgw of the students.

Ans.(C)

In this type of programme teachers may teach
and train students who perform better in a
particular subject and also helps to maintain
their teaching learning difficulties within group
teaching and self study itself. This programme
helps students to reinforce their knowledge and
develop their communication and co-operation
skill as well as good interpersonal relation.
Ans.(B)

The different aspects of speaking are proper
sounds, stress, rhythms, intonation, fluency, and
pause can be taught by this method. The four
steps for this method are:
Perception: It is the basis for concept formation.
Firstly, the teacher introduces the correct way
and the learners perceive the concept.
Imitation: The students then try to follow the way
and methods of the teacher.
Feedback: If the teacher finds any mistake in the
way of students, he gives feedback i.e he
repeats it again once or twice.
Drill: This is the last step, here the teacher gives
group drills and individual drills one after
another.

Hindi Language

Ans.(C)

YT H Fq R TS NHTAT BT IS HIW & AfaH
IR fafed Ui & TART B &EdT BT G HIAT Gaq
AMHT W TH HAUS URfT verdr 31 I aRE I8
gfafes g ot s Aue goied § 819 & dlddd &
T el srufa Qs wer aur g Afed we <A @
Tih gidT 3|

Ans.(C)

B H TS R ®1 [dbrg H31 8 Idb Wbl
FT ARSI fFar Jwl 39 s ¥ faandff & ofex

123.

124.
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ATl # gfa SR § SR 98 Sruurt dur S
foraa @1 32 St @ ofR 0 @ wfdq & mrerw va-fame

Ans.(B)

MUY - 70 e R 71, PR I A AW &
B A R I & WA Bt P W g 4fIPH Agwgul
T & R

Ans.(C)
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Fb:-

TIH gHT § T 3t nfafafiet grt e @ Hed g1 59
UYBR Tg GITAT &1 ¥ i &1 i a1 &=f s 8, e &
3 91d R R g fRar mar 1

Ans.(D)

T & AR AR gR1 = § 991 W & ufd
IgFA Uar gt B o g Bl ofe ¥ ofie
nfafafral Iudsy e =rfiee dur 3 wiafaftat arde gt
Bl

Ans.(A)

TS TR R T G S Sl SauURom B g H
BTG HETH B €, TP S=i} I TG UdT Te] Sl arerd
o 31 3 I1 ‘AaeIRe’ IUANT T 81 IS s B e B
T Y AT o7 6T 7, Al Y AdgiRGBEY i gd &
Y qHEAT S § It 98 qF BT SAURUT B STEAT IR
Rcaf|

Ans.(A)

Tfafafte gr faeem & Ree o= B Y § qur e
ufehar O B B 3fc: R AN T € fpfafafy wrm &
ot g foreg Tifafafy afe asgxy =t gt &t Iues smiféres
TROTH Bt HeuT Ht el Bt STHt 81

Ans.(C)

T gRT BRI Tl Tfafafy geT weERy € g =Ry aur
JuS! gl sfamEawdd gl ot A ofRf @ Jwr-aw
R nifafafirt oft deam & @ gUE | 59 UBR 9 ufthar Bt
ARMRY Tt g8 3

Ans.(A)

o Wsg, Weal & faudidfe Bid §1 IeeRua: f3-31d, Prefl-

Tqhe |

3 7 oef B AR 7 8 Sl Hl b1 31 ArBR B B

31d: ‘S Weg T fIad Tl B

Ans.(B)

W%Tﬁmaﬁaas{ﬁwquﬁﬁél 3fd: ‘gTATd’ P
T e R @

grand &1 3 - gl B gAY |, I gwIferd Ui
Ans.(B)

N F R oam @ ga1 Rt W@ 8 Fifs TEE & TuR
F IR o 1 P SIS b1 = (@) et TeT § U i gl
o R ) Rrafafere 3 gar o @ 81

Ans.(C)

$g PI dic ‘IS Bl Hel T 8 ol [ Ht 3¢ F TG B Re
=g U4 A1 BT Y T IUT G A Bl I Ao IR 4 ATl
Ans.(A)

Iy ey ¥ ‘a8 T SUM U7 XEIG B IwaT ST g
ifes s Iuefad dfad & sdmn T § % 98 S A9k € 98 o
P T SHMER IoaH &1 A9R & S 931 I & AN R gad
BU A B & & 7T 30 T1oft oY eiga 2 TR

Ans.(C)

P § 'SYBR' eg § MG ‘R1SAl V € Fifp a8 a1 @
& wEle B AR R o are o due 7 I9BT UBI
SYHR T RIS TR fIoRT UTed B e g

Ans.(A)

T g | ST U T ¢ i g} A Weg § oI
TR + 39 = TR UTY- Weal & 9GS 3ER T 3HeR T
TIT S § S U Fed ¢l (Fd- MY Fal e
Td T2, g§-155- S IYed < U9e)

Ans.(D)

B4l &1 JUIGar Wed 3Fd el § g1 HT Tigar! Ut 8-
Tug §- Urae, 3ifl, argEaT, g8, $u e B

Ans.(C)

o § o1 d9 sk 7t ora gk § & 1R g« Sifmmy ffe ma,
S e e Al |

3O qR ¥ &fd 3 3Ry 3R fius’ & udfies & T A o
3R I B &1d a1 2
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Ans.(C)

IRaTRe HIeT SR faraa # gam & arft oM arelt e
firg ot 8 Tt § R TurE ot g v A &
T 3T I1 GHH & gl 8|

Ans.(C)

fafea &1 oifiaa wd faeg gwe: foify & siue o
FHt 7S | a1 | Ffp s ot UIW B forem & forw
faft @) emawuswar gt B

Ans.(C)

e UIedgd® B fawg e w0 § oo gidr § ok
I9&T Ay Wt AUS B B BT WU AeATTD T
FXF BT AT g1 WY el gt gk frdt off TR W
7T § o o g dt gl

Ans.(C)

e guiF g Bt JoTEsal & e & e R TR W)
9gd Agayul g g1t 71 Ffd AR IHe S ge 8 &
2, 39 3@ B GHYT, IR AR & §= @i
YT & BT fIHRIq B 31

Ans.(D)

MBIV F ST, ARG T ISl BT ST TR
% 2 | 3 g4t BrE § At aTe S B AdT IATHY
1§ safer 3 g} &1 g1 gD @ |

Ans.(A)

FHEH BT TP HYFD gidl ¢! 3TH $ U 81d &1 o
TRIWR gdfeny gidT &1 UiEt &l PR &l Pl oM gt
21 SHB! UTH WX 9 IR9 B! o | BRI BT WRY AR
B BE # UR, $ou, dhud 9 SRUNR BT
faora grar g1

Ans.(C)

foRy omawedr 9@ = H glaummer, 6R s,
TgUI® SR fawan B onfg 9 oM §1 &R USR &
=l B 3T 3T Tef B Ihd | 39P Y 9gaR Iu &
TATIRN FHefm| IHH TS 8 H&m § B & [N Magdhar
STOR e Wreht Iudsy HE St @, R w1 9mH
STER Al B 9iR erarfayr & off oot et st
Ans.(C)

ragiNe &l 3 g 3rga Rt & o g7 Her &1 uah
HXd 81 3R ARG €Y J %Hd g1 & e & a1 woft
YT HIR@l S - G, AT, UgH 3R faaen &1 S
Igd TS g1 3P UTa § g0 AT § 370 f3ary &
Jrftyeafa T8t &% urad |

Ans.(A)

UUfe TR R 9ed e Urel &1 8 if¥ie Ig= &3
TR G IT 0T T I W yAIT & fore ok &R
IIRd BT € TEQ UHE B gl 2|

)
o ofd arat vy srufd Meurars vy d=ie g 81 sud
BE AU F MR FoTHAGAl & YR W IR g
fIevT Hb IR 44 B
Ans.(A)
Fiftifeal @1 oref grar € 3 st S arF/Ele | v g o
3y, foreg, bo onfel afd 90 AW &1, ;WR A @l &
e B R I 81 b WuTa B §1 g A aifart
TE1 5 sraty 3rawa g g
Ans.(B)
ET Bt et ot THeET & GHIYH ¥ 9o Ugdl Had gl §
& I v & T & U SR S99 wwfdd I8
SHER! U 6 oY, S 39 SR, IqS IHId TRUTH
el Hgfp I SMUR W & ¥l SUIR °HT B U
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